DATE:

REF:

@Peamline

WHEELCHAIR SEATING

COMPANY:

REP:

THERAPIST:

CLIENT:

Clear Form

HEADRESTS

HARNESS

BACKRESTS

LATERALS

ARMRESTS

BELTS & STRAPS

HIP GUIDES

CUSHIONS

MEDIAL THIGH SUPPORT

SEAT PANS




JUMP TO CUSHIONS

@ @

CUSHIONS

SEAT PANS
O Dreamline Assist ODreamline Support
BACKRESTS
MEDIAL THIGH SUPPORT e’ .’
e e Es il E0s ODreamline Contour ODreamline G7
LATERALS
HEADRESTS

O Dreamline STX2

HARNESS, BELTS & STRAPS

Description:

SPARE PARTS
o ] o ] o ] o ] o ] o[ |
o ] o] o] o] o] o ]
o ] o] o] o] o] o[ ]
ORDER FORM ®) I:I ®) I:I '®) I:I o) I:I

Size: width: |:|inches Length: I:l inches
Width Length

Code QTY Description (in) (in)

Dreamline Assist Cushion Inner Cover Only IIl I:I

Dreamline Cluster Gel Pack IIl [l

|:|| DCG46 | | | K f Dreamline Cluster Gel Pack 4"
A

Dl DCSFB46 | | | Dreamline Cluster Sunmate Foam Pack 4"

Dl DCRF46 Dreamline Cluster Reslient Foam Pack 4"

Dl DXCBACKIT | | |

Dreamline BAC Pads For STX and G3 Cushions - 10 Pack |:| |:|

Dl DCGW | | | Dreamline Cushion Gel Wrap Izl El

Dl DCOP | | | Pelvic Obliquity Pads - set of 4 IIl I:I

D | DXCTW | | |

Ve O B o

T oww ] [0 OB D «1 [

[ oewe ][]

Dl DX2CPIW | | |

|:|| DXCLATLL6 | | | Low Lateral Segments for STX2 Cushions |:|

|:|| DXCLATLLIO | | | Low Lateral Segments for STX2 Cushions |:|

|:|| DXCLATLLS | | | ‘ Low Lateral Segments for STX2 Cushions El

Height Width Length
Code Description

(in) (in) (in)

Cushion custom corner cut-out for wheelchair frame

D DCMODCC

D DCMODFR : '_i Add Foam Ramp - specify Front and Rear height
HR

Remove cushion Front Half lateral contouring

D DCMODRFL

D DCMODRRL Remove cushion Rear Half lateral contouring

Remove cushion lateral contouring

D DCMODRL

D DCMODRP

Remove cushion Medial Thigh Support contouring

Dreamline Cushion custom lateral contouring height

D DCMODCL

D DCMODCP

Dreamline cushion custom Medial Thigh Support contouring height

1/2 Supra Core Insert inside cushion cover

D DCMODSBSI1

|:| DCMODSFO . Extra 1/2 of pressure relieving Sunmate foam overlay

Extra foam buildup under cushion for heavy users

D DCMODEF

D DCMODLLDL1

Cushion custom left leg discrepancy cut-out

52 U R E R

D Cushion custom left leg discrepancy cut-out o
D Cushion custom left leg discrepancy cut-out 2z
D Cushion custom left leg discrepancy cut-out 4
D Cushion custom left leg discrepancy cut-out g

D DCMODLLDL6

Cushion custom left leg discrepancy cut-out

Cushion custom right leg discrepancy cut-out

D DCMODLLDR1

=]

D Cushion custom right leg discrepancy cut-out o
D Cushion custom right leg discrepancy cut-out 3z
D Cushion custom right leg discrepancy cut-out 4"
D Cushion custom right leg discrepancy cut-out 5

D DCMODLLDR6

Cushion custom right leg discrepancy cut-out

Cushion Custom fabric modification (contact surfaces) - Dartex smooth

D DCMODCPU

Cushion Custom fabric modification (contact surfaces) - Other Fabric

D DCMODCF

Cushion Tapered Sides Modification to WF and WR dimensions supplied.

D DCMODTS

D DCMODEH

Custom Height Modification (Other)
Cushion Custom Handle Modification

D DCMODH

Cushion Custom Pouch Modification

N e e e o e e e e e e I B 5 O 5 R U R A e

N 0 e e e e o e e e e e et I 0 e A e O
O O 0o o G o

D DCMODP

Items Selected

QTY Code Description




JUMP TO SEAT PANS

TYPES

CUSHIONS
>
BACKRESTS \/
O Cushion rigid base O Quick-release seat pan
MEDIAL THIGH SUPPORT o
Description:

HIP GUIDES & ARMRESTS

LATERALS o. | o | o | o ] o | o |

HEADRESTS

Size: width: |:| inches Length:|:| inches

Code QTY Description Width Length

(in) (in)
SPARE PARTS

O] O Z ey s

COLOURS - 4

ORDER FORM

|:| I:l n 0 Dreamline Positioning Clamps(PR) I:l I:l

Code Description Width Length

(in) (in)

DSPMODLLDL1

]

Seat base custom left leg discrepancy cut-out |:| El

D DSPMODLLDL2 Seat base custom left leg discrepancy cut-out El 2"
D DSPMODLLDL3 Seat base custom left leg discrepancy cut-out El 3"
D DSPMODLLDL4 Seat base custom left leg discrepancy cut-out El 4"

]

DSPMODLLDLS

Seat base custom left leg discrepancy cut-out |:|

]

DSPMODLLDL6

Seat base custom left leg discrepancy cut-out El

DSPMODLLDRI

Seat base custom right leg discrepancy cut-out El El

DSPMODLLDR2

]

Seat base custom right leg discrepancy cut-out El 2"

DSPMODLLDR3

O O
) 0}
) k)
< k<
) O
o) 9}
— —
— —
o) O
Py, bl
o »

EENEEEEREEEER,

Seat base custom right leg discrepancy cut-out El

]

Seat base custom right leg discrepancy cut-out El 4"

DSPMODLLDR5

]

Seat base custom right leg discrepancy cut-out El 5"

]

Seat base custom right leg discrepancy cut-out El

DSPMODCC

[]

Seat base custom rear corner cut-out - custom size D D

Items Selected

QTY Code Description




JUMP TO

CUSHIONS

SEAT PANS

BACKRESTS

MEDIAL THIGH SUPPORT

HIP GUIDES & ARMRESTS

LATERALS

HEADRESTS

HARNESS, BELTS & STRAPS

SPARE PARTS

COLOURS

ORDER FORM

BACKRESTS

O Dreamline Support Backrest

O Corpus Dreamline Support
Backrest

O Dreamline Ignite Active
Contour Backrest

Dreamline Ignite Pro
(Carbon) Active Contour
Backrest

Select Style Bundle

TYPES

'

O Dreamline Contour Backrest

O Dreamline S3 Backrest

O Corpus Dreamline S3
Backrest

O Dreamline Ignite Medium
Contour Backrest

Dreamline Ignite Pro
(Carbon) Mid Backrest

O Dreamline STX Backrest

O Corpus Dreamline STX
Backrest

O Dreamline Ignite Deep
Contour Backrest

Dreamline Ignite Pro
(Carbon) Deep Contour
Backrest

Size: Width: I:l inches  Length: |:| inches

BAC SYSTEM FOR CORPUS BACKRESTS

Ol cwmmaan |
Ol commcs |
O comcr |
O commcw |
O commcws |
Ol comcn |
O eowscms |
Ol cwmcs |

Ol comarar |
Ol comer |
Of comase |
Of comer |
O coma |
Ol sowicws |
O comeza |
Ol cwoncm |

Of coma |
O comscs |
O commas |
O come |
O comsews |
Of comacs |
Of coonc |
Of womnc |

O commcras |
O commc |
O comscrs |
O comscr |
Ol womncm |
Ol comscs |
Ol comem |

Of comes |
Of oo |
Of comma |
O comsemas |
O comcen |
Ol wwrc |
Of wooncms |

Of comas |
O comma |
Of comeass |
O comee |
Of woorcn |
Of omicwn |
O cooncs |

The size of Corpus Backrest selected is:

Accessories

Width Length
Code QTY Description
(in) (in)
|:|| DBWRK | | | Width / Depth offset kit - pair off for 2-point attachment brackets |:| El
Dl DBU2LA | | | Quick-release Safety Lock Pin assembly for U2 quick-release backrest |:| El
hardware

|:|| CDBIFP | | | Dreamline to Corpus Backrest Interface Plate I:I I:I

'h " U2 quick-release backrest clamps (pair off for attachment to 2nd mobility |:| |:|
base)

FITTIS

H..5

Dl DBU2QRCLAMPKIT | | |

|:|| DBU2QR4PTKIT | | |

U2 backrest 4-point hardware upgrade for fixed & quick-release backrests - I:I I:I
Complete set

Dl DBSWSS

| | | Dreamline Backrest Side-Winder Suspension System - Complete including |:| El
4-point attachment hardware

|:|| DBLMLTKIT | | | Dreamline Backrest Lumber/Wedge Kit I:I I:I

-

e 101 |

Extra Lumbar Pad |:| El

Dl DBLW | | | Extra Lateral Stability wedges |:| |:|

|:|| DCSFB46 | | | Dreamline Cluster Sunmate Foam Pack I:l I:l

|:|| DBACPADSI0 | | | BAC Pads Only - set of 10 4"

|:|| DBSWSDS | | | Dreamline Sidewinder Spare Dampers - Soft |:| El

Y
L

Dl DBSWSDF | | | Dreamline Sidewinder Spare Dampers - Firm |:| El

Lt

«@ 1T o
@ 11 ©s

|:|| DBU2FA | | | Dreamline Backrest Fixed Bracket |:| El

|:|| DBCOMPFA | | Dreamline Compact Backrest Fixed Brackets |:| El

D | DBUZCPQRCLAMPKITl |

Dreamline Compact Q/R Clamps

D |DBU2QRCLAM PKIT4P1 |

Dreamline 4-Point Clamp Kit I:l I:l

Dreamline Backrest Q/R Bracket |:| |:|

[ oeuacome | [ ] ‘b é ‘

ook 850

|:|| DBU2CPCOM2P | |

Dreamline Compact Backrest Q/R Brackets

Dl DBU2LBKTDUAL | | | Dreamline Backrest L-Bracket 2-Pin |:| El

|:|| DBU2LBKTSING | | | Dreamline Backrest L-Bracket 1-Pin I:l I:l

3,

nbsy

sl

ahdy

0§ §6o

Dl DBU2QRCOM4P | | | Dreamline 4-Point Back Bracket |:| |:|

|:|| DBCOMPOSP | | | Dreamline Ignite Backrest Offset Plates I:I I:I

|:|| oc | | - Outer Cover Only I:I I:I

- Inner Cover Only Izl Izl

-
»

Modifications

Description Width Length

(in) (in)

1 [

Code

D DBMODCPU

Backrest Pad Custom fabric modification - PU Fabric smooth (contact surfaces)

|:| DBMODGSI Gel insert in spinal region I:l I:l

D DBMODCF

Backrest Pad Custom fabric modification (contact surfaces) - Other Fabric - Please |:| |:|
specify

D DBMODSFO Extra Foam Sunmate Foam Overlay Modification El El

|:| DBMODSBSI Supracor overlay inserted inside backrest cover I:I I:I
|:| DBMODEF Extra thickness modification for heavy user El El

D DBMODT

|:| DBACMODT i

QTY Code

T-shape modification upgrade for support backrests El El

BAC Custom T-shape Modification El El

Items Selected

Description




JUMP TO MEDIAL THIGH SUPPORT
CUSHIONS

Code QTY Description

SEAT PANS

DREAMLINE - SWING DOWN / REMOVABLE MEDIAL THIGH SUPPORT BRACKET.

[ o0 | [ ]

BACKRESTS

MEDIAL THIGH SUPPORT

HIP GUIDES & ARMRESTS

MEDIAL THIGH SUPPORT PADS

WEe Wr L Hr Hr Ls

(in)  (in)  (in)  (in)  (in)  (in)

Code QTY Description

LATERALS

DREAMLINE - SWING-DOWN MEDIAL
THIGH SUPPORT - PAD ONLY - SMALL | - | | - | | - | | - | | - | | - |

|:|| DPPPSML |
HEADRESTS

HARNESS, BELTS & STRAPS

DREAMLINE - SWING-DOWN MEDIAL
THIGH SUPPORT - PAD ONLY - MEDIUM | - | | - | | - | | - | | - | | - |

Dl DPPPMED | | |

SPARE PARTS

COLOURS DREAMLINE - SWING-DOWN MEDIAL

THIGH SUPPORT - PAD ONLY - LARGE | - | | : | | . | | - | | ] | | . |

Dl DPPPLGE | | |

ORDER FORM

DREAMLINE - SWING-DOWN MEDIAL
THIGH SUPPORT - PAD ONLY - CUSTOM | | | | | | | | || ||

Dl DPPPCUST | | |

DREAMLINE - SWING-DOWN MEDIAL
THIGH SUPPORT - WATERFALL PAD ONLY | : | | . | | R | | . | | ] | | . |
- SMALL

Dl DPPWPSML | | |

DREAMLINE - SWING-DOWN MEDIAL
THIGH SUPPORT - WATERFALL PAD ONLY | . | | . | | - | | . | | ] | | . |
- MEDIUM

|:|| DPPWPMED | | |

DREAMLINE - SWING-DOWN MEDIAL
THIGH SUPPORT - WATERFALL PAD ONLY | . | | R | | . | | . | | ] | | . |
- LARGE

|:|| DPPWPLGE | | |

DREAMLINE - SWING-DOWN MEDIAL
THIGH SUPPORT - WATERFALL PAD ONLY | | | | | | | | | | | |
- CUSTOM

|:| | DPPWPCUST | | |

Accessories

Code QTY Description

We Wr L Hr Hr Ls
(in) (in) (in) (in) (in) (in)

Modifications

Code Description

D DPPMODGO

DREAMLINE - GEL OVERLAY AROUND REAR & SIDES OF SWING-DOWN MEDIAL THIGH SUPPORT

DREAMLINE - MEDIAL THIGH SUPPORT PAD CUSTOM FABRIC MOD CONTACT SURFACES - PU

D DPPMODCPU

D DPPMODCF

DREAMLINE - MEDIAL THIGH SUPPORT PAD CUSTOM FABRIC MODIFICATION ON CONTACT

Items Selected

QTY Code Description




JUMP TO HIP GUIDES & ARMRESTS

Hip Guide / Armrest Bracket

CUSHIONS
Code QTY Description
SEAT PANS
|:| | DHGSD | | | DREAMLINE - SWING DOWN HIP GUIDE BRACKET ONLY.
BACKRESTS
- e
MEDIAL THIGH SUPPORT I:l | DHGSDP | | | DREAMLINE - SWING DOWN PIVOT HIP GUIDE BRACKET ONLY.

HIP GUIDES & ARMRESTS
LATERALS Hip Guide Pad

Height Length
Code QTY Description

(in) (in)
HEADRESTS

|:|| DHGP10 | | |

DREAMLINE - HIP GUIDE PAD ONLY - COMPLETE - 10"

10"

HARNESS, BELTS & STRAPS

DREAMLINE - HIP GUIDE PAD ONLY - COMPLETE - 12" 12"

|:| | DHGP12 | | |

SPARE PARTS

DREAMLINE - HIP GUIDE PAD ONLY - COMPLETE - 14" 14"

|:|| DHGP14 | | |

COLOURS

DREAMLINE - HIP GUIDE PAD ONLY - COMPLETE - 16" 16"

|:|| DHGP16 | | |

ORDER FORM

DREAMLINE - HIP GUIDE PAD ONLY - COMPLETE -18"

|:|| DHGP18 | | |

DREAMLINE - HIP GUIDE PAD ONLY - COMPLETE - CUSTOM

[ 1 R U2 e 1 B C R B
=]

]

|:|| DHGPCUST | | |

Armrests

Width Length
Code QTY Description

(in) (in)

][ e ] [ ]

DREAMLINE - ARMREST COMPLETE INCLUDING VERTICAL STEM - 10" |:|

D | DAR12 | | |

DREAMLINE - ARMREST COMPLETE INCLUDING VERTICAL STEM - 12" |:|

D | DAR14 | | | DREAMLINE - ARMREST COMPLETE INCLUDING VERTICAL STEM -14" I:l
D | DAR16 | | | DREAMLINE - ARMREST COMPLETE INCLUDING VERTICAL STEM -16" |:|

D | DAR18 | | |

DREAMLINE - ARMREST COMPLETE INCLUDING VERTICAL STEM -18" |:|

|:|| DARCUST | | |

DREAMLINE - ARMREST COMPLETE INCLUDING VERTICAL STEM - CUSTOM |:| |:|

444444

Accessories

Height Width Length
Code QTY Description

(in) (in) (in)

DREAMLINE HIP GUIDE EXTRA PAD SPACER ONLY | - | | - | | - |

|:|| DHGP100C | | | DREAMLINE - HIP GUIDE SPARE OUTER COVER ONLY - 10" | - | | . | | 10" |
|:|| DHGP120C | | | DREAMLINE - HIP GUIDE SPARE OUTER COVER ONLY - 12" | - | | . | | 120 |
|:|| DHGP140C | | | DREAMLINE - HIP GUIDE SPARE OUTER COVER ONLY - 14" | - | | . | | 14" |
|:|| DHGP160C | | | DREAMLINE - HIP GUIDE SPARE OUTER COVER ONLY - 16" | - | | . | | 16" |
|:|| DHGP180C | | | DREAMLINE - HIP GUIDE SPARE OUTER COVER ONLY - 18" | - | | . | | 18" |

DREAMLINE - HIP GUIDE SPARE OUTER COVER ONLY - CUSTOM | | | - | | |

Height Width Length

Code QTY (in) (in) (in)

Description

Dl DELBBLKSML | | |

DREAMLINE - ELBOW BLOCK FOR ARMREST PAD SMALL - | |
COMPLETE )

DREAMLINE - ELBOW BLOCK FOR ARMREST PAD MEDIUM - | |
COMPLETE )

Dl DELBBLKLGE | | |

DREAMLINE - ELBOW BLOCK FOR ARMREST PAD LARGE - | |
COMPLETE )

COMPLETE

D | DARMBLKSML | | |

DREAMLINE - SIDE ARM BLOCK FOR ARMREST PAD SMALL - | |

D |DARMBLKMED| | |

DREAMLINE - SIDE ARM BLOCK FOR ARMREST PAD MEDIUM - | |
COMPLETE )

D | DARMBLKLGE | | |

DREAMLINE - SIDE ARM BLOCK FOR ARMREST PAD LARGE - | |
COMPLETE )

D |DARMBLKCUST| | |

DREAMLINE - SIDE ARM BLOCK FOR ARMREST PAD CUSTOM - | |
COMPLETE )

|:| | DARP100C

200088 L\ \\\\ S02022020GQ

DREAMLINE - ARMREST PAD SPARE OUTER COVER ONLY -10" | |

-1 el

DREAMLINE - ARMREST PAD SPARE OUTER COVER ONLY -12" | |

|:|| DARP120C | ) | |12"|

|:| | DARP140C

DREAMLINE - ARMREST PAD SPARE OUTER COVER ONLY - 14" | |

-1 Dl

|:| | DARP160C

DREAMLINE - ARMREST PAD SPARE OUTER COVER ONLY -16" | |

-1 [el

|:| | DARP180C

DREAMLINE - ARMREST PAD SPARE OUTER COVER ONLY -16" | |

-] [el

|:| | DARPCUSTOC

DREAMLINE - ARMREST PAD SPARE OUTER COVER ONLY - | | | | | |
CUSTOM )

Modifications

Code Description

D DHGMODGO

DREAMLINE - HIP GUIDE CUSTOM MODIFICATION - GEL OVERLAY ON CONTACT SURFACE.

DREAMLINE - HIP GUIDE PAD CUSTOM FABRIC MODIFICATION ON CONTACT SURFACES - PU FABRIC - SMOOTH.

D DHGMODCPU

Code Description

D DARMODGO

DREAMLINE - ARMREST CUSTOM MODIFICATION - GEL OVERLAY ON CONTACT SURFACE.

DREAMLINE - ARMREST PAD CUSTOM FABRIC MODIFICATION ON CONTACT SURFACES - PU FABRIC - SMOOTH.

D DARMODCPU

Items Selected

QTY Code Description




JUMP TO LATERALS

Lateral Brackets

CUSHIONS Code QTY Description Left Right Pair
SEAT PANS

D | DFL | | | DREAMLINE FIXED LATERAL L BRACKET ONLY - - -
BACKRESTS

HIESE

DREAMLINE FIXED LATERAL ANGLE ADJUSTABLE BRACKET ONLY - - -

MEDIAL THIGH SUPPORT

HIP GUIDES & ARMRESTS |:| | DSAL | | | * DREAMLINE SWING-AWAY LATERAL BRACKET ONLY

HEADRESTS

|:| | DSALP | | | '.ﬂ 3 DREAMLINE SWING-AWAY PIVOT LATERAL BRACKET ONLY - -

HARNESS, BELTS & STRAPS |:|| psaLr | | |

DREAMLINE LO-RISER SWING-AWAY LATERAL BRACKET ONLY - -

SPARE PARTS

|:| | DSALLRP | | | DREAMLINE LO-RISER SWING-AWAY PIVOT LATERAL BRACKET ONLY - - -

COLOURS

ORDER FORM [[osaec | [ ]

DREAMLINE LO-RISER SWING-AWAY LATERAL BRACKET ONLY KIDS - -

|:| | DSALLRPK | | | DREAMLINE LO-RISER SWING-AWAY PIVOT KIDS LATERAL BRACKET - -

MALLER
BACKRESTS

|:| | DSALCL | | | DREAMLINE SWING-AWAY CLAMP-ON LATERAL BRACKET ONLY - - -

|:| | DSALCP | | | DREAMLINE SWING-AWAY CLAMP-ON PIVOT LATERAL BRACKET - -

Lateral Pads

Code QTY Description X-Small Small Medium Large

|:| | DLPPS | | | DREAMLINE LATERAL STRAIGHT PAD ONLY XSML | SML MED | LGE

|:|| DLPPC | | | DREAMLINE LATERAL CURVED PAD ONLY XSML SML MED LGE

|:| | DLPPA | | | DREAMLINE LATERAL ANTERIOR PAD ONLY XSML SML I LGE

|:| | DLPPTD | | |

DREAMLINE LATERAL TEARDROP PAD ONLY - SML MED LGE

DREAMLINE LATERAL PAD CUSTOM SIZE MORE THAN
250MM LONG OR WIDE

|:| |DLPPCUSTXL| | |

Accessories

Code QTY Description X-Small Small Medium Large

Code QTY Description X-Small Small Medium Large

Modifications

Code Description Width Length

(in) (in)

|:| DLPMODGO DREAMLINE - LATERAL PAD GEL OVERLAY ON INNER & TOP SURFACES FOR EXTRA R )
PRESSURE RELIEF

J—

|
|:| DLPMODC

DREAMLINE - LATERAL PAD CUSTOM CUT-OUT TO MEASUREMENTS GIVEN

|:| DLPMODCPU ~ DREAMLINE - LATERAL PAD CUSTOM FABRIC MODIFICATION FOR CONTACT SURFACES _ R
> - PU FABRIC -SMOOTH

|:| DLPMODCF . DREAMLINE - LATERAL PAD CUSTOM FABRIC MODIFICATION FOR CONTACT SURFACES B )
S - OTHER FABRIC

Items Selected

QTY Code Description




JUMP TO HEADRESTS

Headrest Brackets

CUSHIONS
Code Quantity Description
SEAT PANS
|:| DHR I:I DREAMLINE - SADDLEBACK HEADREST BRACKET - COMPLETE
BACKRESTS

MEDIAL THIGH SUPPORT

[0 ores ] [ ]

DREAMLINE - SADDLEBACK HEADREST BRACKET - SWING-DOWN - COMPLETE
HIP GUIDES & ARMRESTS

LATERALS

HEADRESTS

HARNESS, BELTS & STRAPS

Headrest Pads

Code Quantity Description

OGeed [

DREAMLINE - ASSIST HEADREST PAD ONLY - SMALL

SPARE PARTS

COLOURS

OGe=] [

DREAMLINE - ASSIST HEADREST PAD ONLY - LARGE

ORDER FORM

DREAMLINE - CONTOURED HEADREST PAD ONLY - X-SMALL

OGwen] [

DREAMLINE - CONTOURED HEADREST PAD ONLY - SMALL

OGwe] [

DREAMLINE - CONTOURED HEADREST PAD ONLY - LARGE

OGws] [

OEmed [

DREAMLINE - OPEN CURVED HEADREST PAD ONLY - SMALL

ez —

DREAMLINE - OPEN CURVED HEADREST PAD ONLY - LARGE

DREAMLINE - PIVOT-WING HEADREST PAD ONLY - SMALL

n o R —

DREAMLINE - PIVOT-WING HEADREST PAD ONLY - LARGE

n ez R —

PP B P

Accessories

Code Quantity Description

|:| DHRLINK I:I . DREAMLINE - SADDLEBACK HEADREST EXTRA LINK ONLY

D DHRM |:| DREAMLINE - SADDLEBACK HEADREST MOUNT ONLY - COMPLETE

Code Quantity Description

Modifications

Code Description

DREAMLINE - HEADREST PAD CUSTOM FABRIC MODIFICATION ON CONTACT SURFACES - PU FABRIC - SMOOTH

D DHPMODCPU

D DHPMODCF

DREAMLINE - HEADREST PAD CUSTOM FABRIC MODIFICATION ON CONTACT SURFACES - OTHER FABRIC

D DHPMODSFO q DREAMLINE - HEADREST PAD MODIFICATION - ADDITIONAL SUNMATE FOAM OVERLAY

Items Selected

QTY Code Description




JUMP TO HARNESS, BELTS & STRAPS

Harnesses

CUSHIONS
Code QTY Description X-Small Small Medium Large  X-Large

SEAT PANS
|:|| DH2X | | | H2X Harness SML MED LGE -

BACKRESTS

Code QTY Description X-Small Small Medium Large X-Large

HIP GUIDES & ARMRESTS

|:| [ oraxes | [ ] DREAMLINE - H2X HARNESS - PROTECTOR [xsmL En R 1os
: SIEFVES

LATERALS

HEADRESTS

HARNESS, BELTS & STRAPS

DREAMLINE - HARNESS RETAINER KIT - | - | | - | | - | | - | | - |
COMPLETE

HIEE N

DREAMLINE - HARNESS RETAINER | ] | | _ | | j | | . | | . |

SPARE PARTS |:| | DHRCB | | | CONNECTOR BRACKET ONLY

COLOURS

|:|| DHRB | | | (I:;I;EéMLINE-HARNESSRETAINERBRACKET | j | | j | | j | | j | | j |
ORDER FORM

Harness Modifictions

Code Description

Harness Protector Sleeves dartex smooth side out

D DH2XPSMODPU

Hip Belts

Code QTY Description X-Small Small Medium  Large

DREAMLINE 4 POINT PADDED HIP BELT,

REAR PULL WITH METAL CENTRE |:| SML MED LGE
RELEASE BUCKLE

|:|| DHB4RM | | |

|:|| DHB4RP | | |

REAR PULL WITH PLASTIC SIDE RELEASE |:| SML MED LGE
BUCKLE

ﬂ DREAMLINE 4 POINT PADDED HIP BELT,

2l = DREAMLINE 4 POINT PADDED HIP BELT,

|:| | DHB4CM | | | o E—— CENTRE PULL WITH METAL CENTRE |:| SML MED LGE
RELEASE BUCKLE

DREAMLINE 4 POINT PADDED HIP BELT,

CENTRE PULL WITH PLASTIC SIDE stl_ SML MED LGE
RELEASE BUCKLE

|:|| DHB4CP | | |

|:|| DHB4DP | | |

DUAL CENTRE PULL WITH PLASTIC SIDE st|_ SML MED LGE
RELEASE BUCKLE

ﬂ DREAMLINE 4 POINT PADDED HIP BELT,

DREAMLINE 2 POINT PADDED HIP BELT,

|:| | DHB2CM | | | el CENTRE PULL WITH METAL CENTRE |:| SML MED LGE
- - RELEASE BUCKLE

|:| DREAMLINE 2 POINT PADDED HIP BELT,

|:| DHB2CP ” CENTRE PULL WITH PLASTIC SIDE XSML SML MED LGE

RELEASE BUCKLE

DREAMLINE 2 POINT PADDED HIP BELT,

DUAL CENTRE PULL WITH PLASTIC SIDE XSML SML MED LGE
RELEASE BUCKLE

|:| DHB2DP |:|

Hip Belt Accessories

Code QTY Description X-Small Small Medium Large

D | DHBGELSLV | | |

DREAMLINE HIP BELT GEL SLIP ON SLEEVES - PAIR |:| SML MED LGE

Calf Straps

Code QTY Description V\?ild')(h
n

|:| DPCS12 |:| DREAMLINE - PADDED CALF STRAP 12"
|:| DPCSI4 I:l DREAMLINE - PADDED CALF STRAP 14"

|:| DPCS16 I:l DREAMLINE - PADDED CALF STRAP 16"

|:| DPCS18 |:| DREAMLINE - PADDED CALF STRAP 18"

|:| DPCS20 |:| DREAMLINE - PADDED CALF STRAP 20"
|:| DPCSCUST |:| DREAMLINE - PADDED CALF STRAP - CUSTOM |I|

Items Selected

QTY Code Description




JUMP TO SPARE PARTS

CUSHIONS ) o
Code QTY Line Description

SEAT PANS - D
|:| | DTBA25 Harness Hardware i, DREAMLINE - TRIPLE BAR ADJUSTER - METAL - 25MM

BACKRESTS
|:| | DTBA38 Harness Hardware DREAMLINE - TRIPLE BAR ADJUSTER - METAL - 38MM

MEDIAL THIGH SUPPORT
HIP GUIDES & ARMRESTS
|:| | DTRIMOUNT25 Harness Hardware DREAMLINE - TRIANGLE HARNESS MOUNT - METAL - 25MM
LATERALS

|:| | DTRIMOUNT38 Harness Hardware DREAMLINE - TRIANGLE HARNESS MOUNT - METAL - 38MM

HEADRESTS

HARNESS, BELTS & STRAPS
| DFASBHM610SPK20 Fasteners DREAMLINE - BUTTON HEX SCREW SS - SILVER - M6 X 10 - PACK OF 20
SPARE PARTS
|:| | DFASBHM612BPK20 Fasteners DREAMLINE - BUTTON HEX SCREW SS - BLACK - M6 X 12 - PACK OF 20
COLOURS
ORDER FORM
|:| | DFASBHMG16BPK20 Fasteners l DREAMLINE - BUTTON HEX SCREW SS - BLACK - M6 X 16 - PACK OF 20
|:| | DFASBHM620BPK20 Fasteners l DREAMLINE - BUTTON HEX SCREW SS - BLACK - M6 X 20 - PACK OF 20
|:| | DFASBHM625BPK20 Fasteners l DREAMLINE - BUTTON HEX SCREW SS - BLACK - M6 X 25 - PACK OF 20
|:| | DFASBHM630BPK20 Fasteners l DREAMLINE - BUTTON HEX SCREW SS - BLACK - M6 X 30 - PACK OF 20
|:| | DFASBHM640BPK20 Fasteners l DREAMLINE - BUTTON HEX SCREW SS - BLACK - M6 X 40 - PACK OF 20
f i 3

|:| | DFASCSMS512SPK20 Fasteners DREAMLINE - CAP SCREW SS - SILVER SMOOTH RIM - M5 X 12 - PACK OF 20
|:| | DFASCSM520BPK20 Fasteners ‘ DREAMLINE - CAP SCREW SS - BLACK - M5 X 20 - PACK OF 20
|:| | DFASCSM625BPK20 Fasteners ‘ DREAMLINE - CAP SCREW SS - BLACK - M6 X 25 - PACK OF 20
|:| | DFASCSM630BPK20 Fasteners ‘ DREAMLINE - CAP SCREW SS - BLACK - M6 X 30 - PACK OF 20
|:| | DFASCSM635BPK20 Fasteners ‘ DREAMLINE - CAP SCREW SS - BLACK - M6 X 35 - PACK OF 20
|:| | DFASCBMG616BPK20 Fasteners ‘ DREAMLINE - COACH BOLT SS - BLACK - M6 X 16 - PACK OF 20
|:| | DFASCBM620BPK20 Fasteners ‘ DREAMLINE - COACH BOLT SS - BLACK - M6 X 20 - PACK OF 20
|:| | DFASCBM625BPK20 Fasteners ‘ DREAMLINE - COACH BOLT SS - BLACK - M6 X 25 - PACK OF 20
|:| | DFASCBMG630BPK20 Fasteners ‘ DREAMLINE - COACH BOLT SS - BLACK - M6 X 30 - PACK OF 20
|:| | DFASCBM650BPK20 Fasteners ‘ DREAMLINE - COACH BOLT SS - BLACK - M6 X 50 - PACK OF 20
|:| | DFASCBM660BPK20 Fasteners ‘ DREAMLINE - COACH BOLT SS - BLACK - M6 X 60 - PACK OF 20
|:| |DFASCHSM61OBPK20 Fasteners l DREAMLINE - COUNTERSUNK HEX SCREW SS - M6 X 10 - PACK OF 20
|:| | DFASCHSME16BPK20 Fasteners l DREAMLINE - COUNTERSUNK HEX SCREW SS - M6 X 16 - PACK OF 20
|:| |DFASCHSM6258PK20 Fasteners l DREAMLINE - COUNTERSUNK HEX SCREW SS - M6 X 25 - PACK OF 20
|:| |DFASFXP2HOLBPK20 Fasteners m DREAMLINE - FIXING PLATE SS - 2 HOLE - PACK OF 20
|:| |DFASFXP3HOLBPK20 Fasteners m DREAMLINE - FIXING PLATE SS - 3 HOLE - PACK OF 20
|:| | DFASNNM5BPK20 Fasteners o DREAMLINE - NYLOC NUT SS - BLACK - M5 - PACK OF 20
|:| | DFASNNM6BPK20 Fasteners o DREAMLINE - NYLOC NUT SS - BLACK - M6 - PACK OF 20
|:|| DFASAWMG625PK20 Fasteners o DREAMLINE - WASHER ALUMINIUM - BLACK - M6 X 25 - PACK OF 20
|:| | DFASWFM612BPK20 Fasteners o DREAMLINE - WASHER FLAT SS - BLACK - M6 X 12 - PACK OF 20
|:| | DFASWFM619BPK20 Fasteners o DREAMLINE - WASHER FLAT SS - BLACK - M6 X 19 - PACK OF 20
|:| | DFASWSM6BPK20 Fasteners 0 DREAMLINE - WASHER SPRING SS - BLACK - M6 - PACK OF 20
|:| | DFASCNM6 Fasteners @ DREAMLINE - COACH NUT SS - SILVER - M6 - PACK OF 20



JUMP TO COLOURS

CUSHIONS
SEAT PANS
BACKRESTS
MEDIAL THIGH SUPPORT
HIP GUIDES & ARMRESTS
LATERALS
HEADRESTS
HARNESS, BELTS & STRAPS
SPARE PARTS

COLOURS

ORDER FORM

SELECT COLOUR1

ADD COLOUR

Default colour is black. Unless a colour is selected below, seating will be black.

|:| ALL

[] cusHION

[ ] BACKREST

[ ] HIP GUIDE

[ ] LATERAL

[ ] OUTER COVER

MEDIAL THIGH
SUPPORT

[ ] ARMREST

[ ] HEADREST

[ ] HARNESS SLEEVES

SELECT COLOUR 2

CUSHION

BACKREST

HIP GUIDE

LATERAL

[ ] ouTER COVER

MEDIAL THIGH
SUPPORT

[ ] ARMREST

[ ] HEADREST

HARNESS SLEEVES

SELECT COLOUR 3

CUSHION

BACKREST

HIP GUIDE

LATERAL

[ ] ouTeER cOVER

MEDIAL THIGH
SUPPORT

[ ] ARMREST

[ ] HEADREST

HARNESS SLEEVES




JUMP TO

CUSHIONS
SEAT PANS
BACKRESTS
MEDIAL THIGH SUPPORT
HIP GUIDES & ARMRESTS
LATERALS
HEADRESTS
HARNESS, BELTS & STRAPS
SPARE PARTS

COLOURS

ORDER FORM

@Peamline

ORDER FORM

WHEELCHAIR SEATING
Rep Name: Client: DOB:
Email Ad: Email: Phone:
Phone #: Therapist:
Company: Email: Phone:
Ref #: Addresss: Diagnosis:
Date:
SUBMIT FORM
Code QTY Description
Cushions
Seat Bases
Backrests

Medial Thigh Support

Hip Guides/Armrests

Laterals

Headrests

Harnesses/Belts/Straps

Spare Parts

Note & Extras




	Home
	Cushions
	Seat Pans
	Backrests
	Medical Thigh Support
	Hip Guides and Armrests
	Laters
	Headrests
	Harness, Belts & Straps
	Spare Parts
	Colours
	Order Form

	Cushion Type: Off
	Cushion Size: Off
	M1_af_image: 
	M2_af_image: 
	M3_af_image: 
	M4_af_image: 
	M5_af_image: 
	M6_af_image: 
	M7_af_image: 
	M8_af_image: 
	M9_af_image: 
	M10_af_image: 
	M11_af_image: 
	M12_af_image: 
	M18_af_image: 
	MOD1: Off
	MOD2: Off
	M13_af_image: 
	M14_af_image: 
	M15_af_image: 
	M16_af_image: 
	M17_af_image: 
	M19_af_image: 
	M20_af_image: 
	M21_af_image: 
	M22_af_image: 
	M23_af_image: 
	PIC1: 
	PIC3: 
	PIC5: 
	PIC6: 
	PIC7: 
	PIC8: 
	PIC9: 
	PIC13: 
	PIC12: 
	PIC18: 
	PIC15: 
	PIC2: 
	PIC4: 
	PIC10: 
	PIC14: 
	PIC19: 
	PIC16: 
	PIC17: 
	Button1: 
	Button2: 
	Button3: 
	Button4: 
	Button5: 
	Button6: 
	Text1: 
	Text2: 
	Text3: 
	Text4: 
	Text5: 
	Text6: 
	Text7: 
	Text8: 
	Text9: 
	Text10: 
	Text11: 
	Text12: 
	Text13: 
	Text14: 
	Text15: 
	Text16: 
	Text17: 
	Text18: 
	Text19: 
	Text20: 
	Text21: 
	Text22: 
	Text23: 
	Text24: 
	Text25: 
	Text26: 
	Text27: 
	Text28: 
	Text29: 
	Text30: 
	Text31: 
	Cusion Description: 
	Text32: 
	Text35: 
	Text36: 
	CB1: Off
	CB3: Off
	CB5: Off
	CB6: Off
	CB7: Off
	CB8: Off
	SD1: Dreamline Assist Cushion Inner Cover Only
	SD3: Dreamline Cluster Gel Pack

	SD5: Dreamline Cluster Gel Pack
	SD6: Dreamline Cluster Sunmate Foam Pack
	SD7: Dreamline Cluster Reslient Foam Pack
	SD8: Dreamline BAC Pads For STX and G3 Cushions - 10 Pack
	SD9: Dreamline Cushion Gel Wrap
	CB9: Off
	Q1: 
	Q3: 
	Q5: 
	Q6: 
	Q7: 
	Q8: 
	Q9: 
	CB13: Off
	SD13: Pelvic Obliquity Pads - set of 4
	Q13: 
	C1: OC
	C3: IC
	C5: DCG46
	C6: DCSFB46
	C7: DCRF46
	C8: DXCBACKIT
	C9: DCGW
	C13: DCOP
	CB2: Off
	CB4: Off
	CB10: Off
	C2: 
	C4: 
	C10: 
	Q2: 
	Q4: 
	Q10: 
	SD2: 
	SD4: Dreamline Cluster Sunmate Foam Pack
	SD10: 
	CB12: Off
	CB14: Off
	CB15: Off
	C12: DXCTW
	C14: 
	C15: DXCLAT3
	Q12: 
	Q15: 
	Q16: 
	SD12: 
	SD14: 
	SD15: 
	C16: DXCLAT4
	C17: DXCLAT6
	C19: 
	SD16: 
	SD17: 
	SD18: 
	SD19: 
	C18: DX2CPIW
	CB16: Off
	CB17: Off
	CB18: Off
	CB19: Off
	Q17: 
	Q14: 
	Q18: 
	Q19: 
	Check Box20: Off
	Check Box21: Off
	Check Box22: Off
	Check Box23: Off
	Check Box24: Off
	Check Box30: Off
	W1: "
	H1: "
	W2: 
	H2: 
	W3: "
	H3: "
	W4: 
	H4: 
	W5: 4"
	H5: 6"
	W6: 4"
	H6: 6"
	W7: 4"
	H7: 6"
	W8: -
	H8: -
	W9: "
	H9: "
	W10: 
	H10: 
	W12: 
	H12: -
	W13: "
	H13: -
	W14: 
	H14: -
	W15: 3"
	H15: -
	W16: 4"
	H16: -
	W17: 6"
	H17: -
	W18: 
	H18: -
	W19: 
	H19: -
	Check Box25: Off
	Check Box26: Off
	Check Box27: Off
	Check Box28: Off
	Check Box29: Off
	M1: DCMODCC
	M2: DCMODFR
	M3: DCMODRFL
	M4: DCMODRRL
	M5: DCMODRL
	M6: DCMODRP
	M7: DCMODCL
	M8: DCMODCP
	M9: DCMODSBS1
	M10: DCMODSFO
	M11: DCMODEF
	M12: DCMODLLDL1
	M13: DCMODLLDL2
	M14: DCMODLLDL3
	M15: DCMODLLDL4
	M16: DCMODLLDL5
	M17: DCMODLLDL6
	M18: DCMODLLDR1
	M19: DCMODLLDR2
	M20: DCMODLLDR3
	M21: DCMODLLDR4
	M22: DCMODLLDR5
	M23: DCMODLLDR6
	D1: Cushion custom corner cut-out for wheelchair frame
	D2: Add Foam Ramp - specify Front and Rear height
	D3: Remove cushion Front Half lateral contouring
	D4: Remove cushion Rear Half lateral contouring
	D5: Remove cushion lateral contouring
	D6: Remove cushion Medial Thigh Support contouring
	D7: Dreamline Cushion custom lateral contouring height
	D8: Dreamline cushion custom Medial Thigh Support contouring height
	D9: 1/2 Supra Core Insert inside cushion cover
	D10: Extra 1/2 of pressure relieving Sunmate foam overlay
	D11: Extra foam buildup under cushion for heavy users
	D12: Cushion custom left leg discrepancy cut-out
	D13: Cushion custom left leg discrepancy cut-out
	D14: Cushion custom left leg discrepancy cut-out
	D15: Cushion custom left leg discrepancy cut-out
	D16: Cushion custom left leg discrepancy cut-out
	D17: Cushion custom left leg discrepancy cut-out
	D18: Cushion custom right leg discrepancy cut-out
	D19: Cushion custom right leg discrepancy cut-out
	D20: Cushion custom right leg discrepancy cut-out
	D21: Cushion custom right leg discrepancy cut-out
	D22: Cushion custom right leg discrepancy cut-out
	D23: Cushion custom right leg discrepancy cut-out
	H21: -
	W21: 
	L21: 
	H22: 
	W22: 
	L22: -
	H23: -
	W23: -
	L23: -
	H24: -
	W24: -
	L24: -
	H25: -
	W25: -
	L25: -
	H26: -
	W26: -
	L26: -
	H27: 
	W27: -
	L27: -
	L28: -
	L29: -
	L30: -
	L31: -
	H32: -
	W32: -
	L32: 1"
	H33: -
	H34: -
	H35: -
	H36: -
	H37: -
	H38: -
	H39: -
	H40: -
	H41: -
	H42: -
	H43: -
	W43: -
	L43: 6"
	W42: -
	L42: 5"
	W33: -
	W34: -
	W35: -
	W36: -
	W37: -
	W38: -
	W39: -
	W40: -
	W41: -
	L33: 2"
	L34: 3"
	L35: 4"
	L36: 5"
	L37: 6"
	L38: 1"
	L39: 2"
	L40: 3"
	L41: 4"
	Size Description: 
	Button7: 
	Button8: 
	Button9: 
	Button10: 
	Button11: 
	SP1_af_image: 
	SP2_af_image: 
	Seatpan Type: Off
	Seatpan Description: 
	Seatpan Size: Off
	Text46: 
	Text47: 
	Text48: 
	Text49: 
	Text50: 
	Text53: 
	Text54: 
	Text55: 
	Text58: 
	Text59: 
	Text60: 
	Text64: 
	Text65: 
	Text68: 
	Text69: 
	Text70: 
	Text90: 
	Text91: 
	Hidden Text: 
	CB20: Off
	CB22: Off
	CB23: Off
	CB24: Off
	CB25: Off
	CB26: Off
	C20: DCRL
	C22: DSPCKIT
	C23: DSPUR200
	C24: DSPUR250
	C25: DSPUR300
	C26: DSPUR350
	Q20: 
	Q22: 
	Q23: 
	Q24: 
	Q25: 
	Q26: 
	SW20: 
	SW22: -
	SW23: -
	SW24: -
	SW25: -
	SW26: -
	SD20: 
	SD22: Extra set of 4 seat pan clamps for 2nd mobility base
	SD23: Dreamline Utility Rail for Quick-release Seat Pan 200mm (suits 11"-13" seat depths)
	SD24: Dreamline Utility Rail for Quick-release Seat Pan 250mm (suits 13"/15" seat depths)
	SD25: Dreamline Utility Rail for Quick-release Seat Pan 300mm (suits 15"/17" seat depths)
	SD26: Dreamline Utility Rail for Quick-release Seat Pan 350mm (suits 17"-19" seat depths)
	SPA0: 
	Text51: 
	Text56: 
	Text61: 
	Text66: 
	Text52: 
	Text57: 
	Text62: 
	Text63: 
	Text67: 
	SPA2: 
	SPA3: 
	SPA4: 
	SPA5: 
	SPA6: 
	SL20: -
	SL22: -
	SL23: -
	SL24: -
	SL25: -
	SL26: -
	CB21: Off
	C21: DCRLXL
	SD21: 
	Q21: 
	SW21: 
	SL21: -
	SPA1: 
	SPM1: 
	SPM2: 
	SPM3: 
	SPM4: 
	SPM5: 
	SPM6: 
	SPM7: 
	SPM8: 
	SPM9: 
	SPM10: 
	SPM11: 
	SPM12: 
	SPM13: 
	Seatpan Mod1: Off
	MC1: DSPMODLLDL1
	MC2: DSPMODLLDL2
	MC3: DSPMODLLDL3
	MC4: DSPMODLLDL4
	MC5: DSPMODLLDL5
	MC6: DSPMODLLDL6
	CBM13: Off
	MC7: DSPMODLLDR1
	MC8: DSPMODLLDR2
	MC9: DSPMODLLDR3
	MC10: DSPMODLLDR4
	MC11: DSPMODLLDR5
	MC12: DSPMODLLDR6
	MC13: DSPMODCC
	SPMD1: Seat base custom left leg discrepancy cut-out
	SPMD2: Seat base custom left leg discrepancy cut-out
	SPMD3: Seat base custom left leg discrepancy cut-out
	SPMD4: Seat base custom left leg discrepancy cut-out
	SPMD5: Seat base custom left leg discrepancy cut-out
	SPMD6: Seat base custom left leg discrepancy cut-out
	SPMD7: Seat base custom right leg discrepancy cut-out
	SPMD8: Seat base custom right leg discrepancy cut-out
	SPMD9: Seat base custom right leg discrepancy cut-out
	SPMD10: Seat base custom right leg discrepancy cut-out
	SPMD11: Seat base custom right leg discrepancy cut-out
	SPMD12: Seat base custom right leg discrepancy cut-out
	SPMD13: Seat base custom rear corner cut-out - custom size
	MW1: -
	MW2: -
	MW3: -
	MW4: -
	MW5: -
	MW6: -
	MW7: -
	MW8: -
	MW9: -
	MW10: -
	MW11: -
	MW12: -
	MW13: 
	ML1: 1"
	ML2: 2"
	ML3: 3"
	ML4: 4"
	ML5: 5"
	ML6: 6"
	ML7: 1"
	ML8: 2"
	ML9: 3"
	ML10: 4"
	ML11: 5"
	ML12: 6"
	ML13: 
	Backrest Type: Off
	Blue Window: 
	Style Text1: 
	Style Text3: 
	Style Text2: 
	Style Text4: 
	Text of Style: Select Style Bundle
	Backrest Size: Off
	Backrest Sizetxt: Off
Off
	Backrest Style: Off
	BS Width: 
	BS Length: 
	BS Size: 
	BSCB1: Off
	BSCB2: Off
	BSCB3: Off
	BSCB4: Off
	BSCB5: Off
	BSCB6: Off
	BSCB7: Off
	BSCB8: Off
	BSCB9: Off
	BSCB10: Off
	BSCB11: Off
	BSCB12: Off
	BSCB13: Off
	BSCB14: Off
	BSC1: DBWRK
	BSC2: DBU2LA
	BSC3: DBU2QRCLAMPKIT
	BSC4: DBU2QR4PTKIT
	BSC5: DBLMLTKIT
	BSC6: DBLP
	BSC7: DBLW
	BSC8: DCSFB46
	BSC9: DBACPADS10
	BSC12: DBMP
	BSC13: DBACSB
	BSC14: DBACGK
	BSC10: OC
	BSQ1: 
	BSQ2: 
	BSQ3: 
	BSQ4: 
	BSQ5: 
	BSQ6: 
	BSQ7: 
	BSQ8: 
	BSQ9: 
	BSQ12: 
	BSQ13: 
	BSQ14: 
	BSQ10: 
	BSW1: -
	BSW2: -
	BSW3: -
	BSW4: -
	BSW5: -
	BSW6: -
	BSW7: -
	BSW8: -
	BSW9: 4"
	BSW12: "
	BSW13: "
	BSW14: "
	BSW10: "
	BSL1: -
	BSL2: -
	BSL3: -
	BSL4: -
	BSL5: -
	BSL6: -
	BSL7: -
	BSL8: -
	BSL9: 6"
	BSL12: -
	BSL13: "
	BSL14: "
	BSL10: "
	BSD1: Width / Depth offset kit - pair off for 2-point attachment brackets
	BSD2: Quick-release Safety Lock Pin assembly for U2 quick-release backrest hardware
	BSD3: U2 quick-release backrest clamps (pair off for attachment to 2nd mobility base)
	BSD4: U2 backrest 4-point hardware upgrade for fixed & quick-release backrests - Complete set
	BSD5: Dreamline Backrest Lumber/Wedge Kit
	BSD6: Extra Lumbar Pad
	BSD7: Extra Lateral Stability wedges
	BSD8: Dreamline Cluster Sunmate Foam Pack
	BSD9: BAC Pads Only - set of 10
	BSD12: Dreamline Backrest Modesty Panel
	BSD13: BAC System for Support Backrest
	BSD14: BAC System Growth Kit
	BSD10:  - Outer Cover Only
	BSPIC_1: 
	BSPIC_2: 
	BSPIC_3: 
	BSPIC_4: 
	BSPIC_5: 
	BSPIC_6: 
	BSPIC_7: 
	BSPIC_8: 
	BSPIC_9: 
	BSPIC_12: 
	BSPIC_17: 
	BSPIC_18: 
	BSPIC_19: 
	Acessories Show & Hide: Off
	BSC11: IC
	BSD11:  - Inner Cover Only
	BSQ11: 
	BSW11: "
	BSL11: "
	BSPIC_10: 
	BSPIC_11: 
	WL: 
	BSCB17: Off
	BSCB18: Off
	BSCB19: Off
	BSC17: CDBIFP
	BSC18: DBSWSS
	BSC19: DBMLEVO
	BSD17: Dreamline to Corpus Backrest Interface Plate
	BSD18: Dreamline Backrest Side-Winder Suspension System - Complete including 4-point attachment hardware
	BSD19: Dreamline Backrest Mount for Levo wheelchairs including fastenings
	BSQ17: 
	BSQ18: 
	BSQ19: 
	BSW17: -
	BSW18: -
	BSW19: -
	BSL17: -
	BSL18: -
	BSL19: -
	Custom fields info: 
	BSPIC_13: 
	BSPIC_14: 
	BSCB20: Off
	BSCB21: Off
	BSCB22: Off
	BSCB23: Off
	BSC20: ACOC
	BSC21: DBACIB
	BSC22: 
	BSC23: 
	BSD20:  - with BAC outer cover
	BSD21: BAC System for Ignite Backrest
	BSD22:  Outer Cover - made to custom dimensions from 21" - 26" wide & 25" - 28" high
	BSD23:  Inner Cover - made to custom dimensions from 21" - 26" wide & 25" - 28" high
	BSQ20: 
	BSQ21: 
	BSQ22: 
	BSQ23: 
	BSW20: "
	BSW21: "
	BSW22: "
	BSW23: "
	BSL20: "
	BSL21: "
	BSL22: "
	BSL23: "
	Backrest Typetxt: 
	BSPIC_20: 
	BSPIC_21: 
	BSPIC_22: 
	BSPIC_23: 
	BSMODCB1: Off
	BSMODCB2: Off
	BSMODCB3: Off
	BSMODCB4: Off
	BSMODC1: DBMODCPU
	BSMODC2: DBMODGSI
	BSMODC3: DBMODCF
	BSMODC4: DBMODSFO
	BSMODSD1: Backrest Pad Custom fabric modification - PU Fabric smooth (contact surfaces)
	BSMODSD2: Gel insert in spinal region
	BSMODSD3: Backrest Pad Custom fabric modification (contact surfaces) - Other Fabric - Please specify
	BSMODSD4: Extra Foam Sunmate Foam Overlay Modification
	BSMODW1: -
	BSMODW2: -
	BSMODW3: -
	BSMODW4: -
	BSMODL1: -
	BSMODL2: -
	BSMODL3: -
	BSMODL4: -
	BSMODPIC_1: 
	BSMODPIC_2: 
	BSMODPIC_4: 
	BSMODPIC_3: 
	Selection with Q: 
	Custom Field: NORM
	Cutom Show & Hide: Off
	Customable Width and length: 
	TS: 
	BSMODCB5: Off
	BSMODCB6: Off
	BSMODC5: DBMODSBS1
	BSMODC6: DBMODEF
	BSMODSD5: Supracor overlay inserted inside backrest cover
	BSMODSD6: Extra thickness modification for heavy user 
	BSMODW5: -
	BSMODW6: -
	BSMODL5: -
	BSMODL6: -
	BSMODPIC_6: 
	BSMODPIC_5: 
	BSMODCB7: Off
	BSMODCB8: Off
	BSMODC7: DBMODT
	BSMODC8: DBACMODT
	BSMODSD7: T-shape modification upgrade for support backrests
	BSMODSD8: BAC Custom T-shape Modification
	BSMODW7: -
	BSMODW8: -
	BSMODL7: -
	BSMODL8: -
	BSMODPIC_8: 
	BSMODPIC_7: 
	igndeep: 
	SP: 
	F: 
	Q: 
	ignact: 
	ignmed: 
	corp_supp: 
	corp_s3: 
	corp_stx: 
	cont: 
	supp: 
	s3: 
	stx: 
	procarbon: 
	procarbon_med: 
	procarbon_deep: 
	PBCB: Off
	PBC: DPSD 
	PBQ: 
	PBSD: DREAMLINE -  SWING DOWN / REMOVABLE MEDIAL THIGH SUPPORT BRACKET.
	PB_PIC: 
	PPCB4: Off
	PPCB5: Off
	PPCB6: Off
	PPCB7: Off
	PPCB8: Off
	PPC1: DPPPSML
	PPC2: DPPPMED
	PPC3: DPPPLGE
	PPC4: DPPPCUST
	PPC5: DPPWPSML
	PPC6: DPPWPMED
	PPC7: DPPWPLGE
	PPC8: DPPWPCUST
	PPQ1: 
	PPQ2: 
	PPQ3: 
	PPQ4: 
	PPQ5: 
	PPQ6: 
	PPQ7: 
	PPQ8: 
	PP_PIC1: 
	PP_PIC2: 
	PP_PIC3: 
	PP_PIC4: 
	PP_PIC5: 
	PP_PIC6: 
	PP_PIC7: 
	PP_PIC8: 
	PPSD1: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - PAD ONLY - SMALL
	PPSD2: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - PAD ONLY - MEDIUM
	PPSD3: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - PAD ONLY - LARGE
	PPSD4: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - PAD ONLY - CUSTOM
	PPSD5: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - WATERFALL PAD ONLY - SMALL
	PPSD6: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - WATERFALL PAD ONLY - MEDIUM
	PPSD7: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - WATERFALL PAD ONLY - LARGE
	PPSD8: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - WATERFALL PAD ONLY - CUSTOM
	Text72: - 
	Text73: - 
	Text74: - 
	Text75: - 
	Text76: - 
	Text77: - 
	PPWF4: 
	PPWR4: 
	PPL4: 
	PPHF4: 
	PPHR4: - 
	PPLB4: - 
	PPWF8: 
	PPWR8: 
	PPL8: 
	PPHF8: 
	PPHR8: 
	PPLB8: 
	ACCB1: Off
	ACC1: DPSDPS
	ACQ1: 
	ACPIC_1: 
	ACSD1: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT BRACKET - PROTECTOR SLEEVE
	ACWF1: - 
	ACWR1: - 
	ACL1: - 
	ACHF1: - 
	ACHR1: - 
	ACLB1: - 
	ACCB2: Off
	ACC2: DPPPSMLOC
	ACQ2: 
	ACPIC_2: 
	ACSD2: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - SPARE OUTER COVER ONLY - SMALL
	ACWF2: - 
	ACWR2: - 
	ACL2: - 
	ACHF2: - 
	ACHR2: - 
	ACLB2: - 
	ACCB3: Off
	ACC3: DPPPMEDOC
	ACQ3: 
	ACPIC_3: 
	ACSD3: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - SPARE OUTER COVER ONLY - MEDIUM
	ACWF3: - 
	ACWR3: - 
	ACL3: - 
	ACHF3: - 
	ACHR3: - 
	ACLB3: - 
	ACCB4: Off
	ACC4: DPPPLGEOC
	ACQ4: 
	ACPIC_4: 
	ACSD4: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - SPARE OUTER COVER ONLY - LARGE
	ACWF4: - 
	ACWR4: - 
	ACL4: - 
	ACHF4: - 
	ACHR4: - 
	ACLB4: - 
	ACCB5: Off
	ACC5: DPPPCUSTOC
	ACQ5: 
	ACPIC_5: 
	ACSD5: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - SPARE OUTER COVER ONLY - CUSTOM
	ACWF5: 
	ACWR5: 
	ACL5: 
	ACHF5: 
	ACHR5: - 
	ACLB5: - 
	ACCB6: Off
	ACC6: DPPWPSMLOC
	ACQ6: 
	ACPIC_6: 
	ACSD6: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - WATERFALL - SPARE OUTER COVER ONLY - SMALL
	ACWF6: - 
	ACWR6: - 
	ACL6: - 
	ACHF6: - 
	ACHR6: - 
	ACLB6: - 
	ACCB7: Off
	ACC7: DPPWPMEDOC
	ACQ7: 
	ACPIC_7: 
	ACSD7: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - WATERFALL - SPARE OUTER COVER ONLY - MEDIUM
	ACWF7: - 
	ACWR7: - 
	ACL7: - 
	ACHF7: - 
	ACHR7: - 
	ACLB7: - 
	ACCB8: Off
	ACC8: DPPWPLGEOC
	ACQ8: 
	ACPIC_8: 
	ACSD8: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - WATERFALL - SPARE OUTER COVER ONLY - LARGE
	ACWF8: - 
	ACWR8: - 
	ACL8: - 
	ACHF8: - 
	ACHR8: - 
	ACLB8: - 
	ACCB9: Off
	ACC9: DPPWPCUSTOC
	ACQ9: 
	ACPIC_9: 
	ACSD9: DREAMLINE - SWING-DOWN MEDIAL THIGH SUPPORT - WATERFALL - SPARE OUTER COVER ONLY - CUSTOM
	ACWF9: 
	ACWR9: 
	ACL9: 
	ACHF9: 
	ACHR9: 
	ACLB9: 
	PPMCB1: Off
	PPMC1: DPPMODGO
	PPMSD1: DREAMLINE - GEL OVERLAY AROUND REAR & SIDES OF SWING-DOWN MEDIAL THIGH SUPPORT
	PPM_PIC1: 
	PPMCB2: Off
	PPMC2: DPPMODCPU
	PPMSD2: DREAMLINE - MEDIAL THIGH SUPPORT PAD CUSTOM FABRIC MOD CONTACT SURFACES - PU FABRIC - SMOOTH
	PPM_PIC2: 
	PPMCB3: Off
	PPMC3: DPPMODCF
	PPMSD3: DREAMLINE - MEDIAL THIGH SUPPORT PAD CUSTOM FABRIC MODIFICATION ON CONTACT SURFACES - OTHER FABRIC
	PPM_PIC3: 
	ARC1: DAR10
	ARC3: DAR14
	ARC4: DAR16
	ARC5: DAR18
	ARC6: DARCUST
	HP_PIC1: 
	HPH1: -
	HPH2: -
	HPH3: -
	HPH4: -
	HPH5: -
	HPH6: 
	HPL1: 10"
	HPL2: 12"
	HPL3: 14"
	HPL4: 16"
	HPL5: 18"
	HPL6: 
	ARC2: DAR12
	ARCB1: Off
	ARCB2: Off
	ARCB3: Off
	ARCB4: Off
	ARCB5: Off
	ARCB6: Off
	AR_PIC1: 
	AR_PIC2: 
	AR_PIC3: 
	AR_PIC4: 
	AR_PIC5: 
	AR_PIC6: 
	ARQ1: 
	ARQ2: 
	ARQ3: 
	ARQ4: 
	ARQ5: 
	ARQ6: 
	ARSD1: DREAMLINE - ARMREST COMPLETE INCLUDING VERTICAL STEM - 10"
	ARSD2: DREAMLINE - ARMREST COMPLETE INCLUDING VERTICAL STEM - 12"
	ARSD3: DREAMLINE - ARMREST COMPLETE INCLUDING VERTICAL STEM  - 14"
	ARSD4: DREAMLINE - ARMREST COMPLETE INCLUDING VERTICAL STEM  - 16"
	ARSD5: DREAMLINE - ARMREST COMPLETE INCLUDING VERTICAL STEM  - 18"
	ARSD6: DREAMLINE - ARMREST COMPLETE INCLUDING VERTICAL STEM - CUSTOM
	ARW1: -
	ARW2: -
	ARW3: -
	ARW4: -
	ARW5: -
	ARW6: 
	ARL1: 10"
	ARL2: 12"
	ARL3: 14"
	ARL4: 16"
	ARL5: 16"
	ARL6: 
	HAC1: DELBBLKSML 
	HAC2: DELBBLKMED
	HAC3: DELBBLKLGE
	HAC4: DARMBLKSML 
	HAC5: DARMBLKMED
	HAC6: DARMBLKLGE
	HACB1: Off
	HACB2: Off
	HACB3: Off
	HACB4: Off
	HACB5: Off
	HACB6: Off
	HA_PIC1: 
	HA_PIC2: 
	HA_PIC3: 
	HA_PIC4: 
	HA_PIC5: 
	HA_PIC6: 
	HAQ1: 
	HAQ2: 
	HAQ3: 
	HAQ4: 
	HAQ5: 
	HAQ6: 
	HASD1: DREAMLINE - ELBOW BLOCK FOR ARMREST PAD  SMALL - COMPLETE

	HASD2: DREAMLINE - ELBOW BLOCK FOR ARMREST PAD  MEDIUM - COMPLETE

	HASD3: DREAMLINE - ELBOW BLOCK FOR ARMREST PAD  LARGE - COMPLETE
	HASD4: DREAMLINE - SIDE ARM BLOCK FOR ARMREST PAD SMALL - COMPLETE
	HASD5: DREAMLINE - SIDE ARM BLOCK FOR ARMREST PAD MEDIUM - COMPLETE
	HASD6: DREAMLINE - SIDE ARM BLOCK FOR ARMREST PAD LARGE - COMPLETE
	HAH1: -
	HAH2: -
	HAH3: -
	HAH4: -
	HAH5: -
	HAH6: -
	HAW1: -
	HAW2: -
	HAW3: -
	HAW4: -
	HAW5: -
	HAW6: -
	HAC7: DARMBLKCUST 
	HAC8: DARP10OC
	HACB7: Off
	HACB8: Off
	HA_PIC7: 
	HA_PIC8: 
	HAQ7: 
	HAQ8: 
	HASD7: DREAMLINE - SIDE ARM BLOCK FOR ARMREST PAD CUSTOM - COMPLETE

	HASD8: DREAMLINE - ARMREST PAD SPARE OUTER COVER ONLY - 10"
	HAH7: -
	HAH8: -
	HAW7: -
	HAW8: -
	HAC9: DARP12OC
	HACB9: Off
	HA_PIC9: 
	HAQ9: 
	HASD9: DREAMLINE - ARMREST PAD SPARE OUTER COVER ONLY - 12"
	HAH9: -
	HAW9: -
	HAC10: DARP14OC
	HACB10: Off
	HA_PIC10: 
	HAQ10: 
	HASD10: DREAMLINE - ARMREST PAD SPARE OUTER COVER ONLY - 14"
	HAC11: DARP16OC
	HACB11: Off
	HA_PIC11: 
	HAQ11: 
	HASD11: DREAMLINE - ARMREST PAD SPARE OUTER COVER ONLY - 16"
	HAC12: DARP18OC
	HACB12: Off
	HA_PIC12: 
	HAQ12: 
	HASD12: DREAMLINE - ARMREST PAD SPARE OUTER COVER ONLY - 16"
	HAH12: -
	HAW12: -
	HAC13: DARPCUSTOC
	HACB13: Off
	HA_PIC13: 
	HAQ13: 
	HASD13: DREAMLINE - ARMREST PAD SPARE OUTER COVER ONLY - CUSTOM
	HAH13: -
	HAW13: 
	HAC14: DHGP10OC
	HACB14: Off
	HA_PIC14: 
	HAQ14: 
	HASD14: DREAMLINE - HIP GUIDE SPARE OUTER COVER ONLY - 10"
	HAH14: -
	HAW14: -
	HAC15: DHGP12OC
	HACB15: Off
	HA_PIC15: 
	HAQ15: 
	HASD15: DREAMLINE - HIP GUIDE SPARE OUTER COVER ONLY - 12"
	HAH15: -
	HAW15: -
	HAC16: DHGP14OC
	HACB16: Off
	HA_PIC16: 
	HAQ16: 
	HASD16: DREAMLINE - HIP GUIDE SPARE OUTER COVER ONLY - 14"
	HAH16: -
	HAW16: -
	HAC17: DHGP16OC
	HACB17: Off
	HA_PIC17: 
	HAQ17: 
	HASD17: DREAMLINE - HIP GUIDE SPARE OUTER COVER ONLY - 16"
	HAH17: -
	HAW17: -
	HAC18: DHGP18OC
	HACB18: Off
	HA_PIC18: 
	HAQ18: 
	HASD18: DREAMLINE - HIP GUIDE SPARE OUTER COVER ONLY - 18"
	HAH18: -
	HAW18: -
	HAL1: -
	HAL2: -
	HAL3: -
	HAL4: -
	HAL5: -
	HAL6: -
	HAL7: -
	HAL8: 10"
	HAL9: 12"
	HAL12: 16"
	HAL13: 
	HAL14: 10"
	HAL15: 12"
	HAL16: 14"
	HAL17: 16"
	HAL18: 18"
	MODCB1: Off
	MODC1: DHGMODGO 
	MODSD1: DREAMLINE - HIP GUIDE CUSTOM MODIFICATION - GEL OVERLAY ON CONTACT SURFACE.
	MOD_PIC1: 
	MODCB2: Off
	MODC2: DHGMODCPU 
	MODSD2: DREAMLINE - HIP GUIDE PAD CUSTOM FABRIC MODIFICATION ON CONTACT SURFACES - PU FABRIC - SMOOTH.
	MOD_PIC2: 
	MODCB3: Off
	MODC3: DARMODGO 
	MODSD3: DREAMLINE - ARMREST CUSTOM MODIFICATION - GEL OVERLAY ON CONTACT SURFACE.
	MOD_PIC3: 
	MODCB4: Off
	MODC4: DARMODCPU 
	MODSD4: DREAMLINE - ARMREST PAD CUSTOM FABRIC MODIFICATION ON CONTACT SURFACES - PU FABRIC - SMOOTH.
	MOD_PIC4: 
	HPC2: DHGP12
	HPC3: DHGP14
	HPC4: DHGP16
	HPC5: DHGP18
	HPC6: DHGPCUST
	HPCB2: Off
	HPCB3: Off
	HPCB4: Off
	HPCB5: Off
	HPCB6: Off
	HPQ1: 
	HPQ2: 
	HPQ3: 
	HPQ4: 
	HPQ5: 
	HPQ6: 
	HPSD1: DREAMLINE - HIP GUIDE PAD ONLY - COMPLETE - 10"
	HPSD2: DREAMLINE - HIP GUIDE PAD ONLY - COMPLETE - 12"
	HPSD3: DREAMLINE - HIP GUIDE PAD ONLY - COMPLETE - 14"
	HPSD4: DREAMLINE - HIP GUIDE PAD ONLY - COMPLETE - 16"
	HPSD5: DREAMLINE - HIP GUIDE PAD ONLY - COMPLETE - 18"
	HPSD6: DREAMLINE - HIP GUIDE PAD ONLY - COMPLETE - CUSTOM
	LBC6: DSALLRP
	LBPIC_6: 
	LBCB6: Off
	LBQ6: 
	LBCB7: Off
	LBC7: DSALLRK
	LBQ7: 
	LBSD7: DREAMLINE LO-RISER SWING-AWAY LATERAL BRACKET ONLY KIDS
	LBCB8: Off
	LBC8: DSALLRPK
	LBQ8: 
	LBSD8: DREAMLINE LO-RISER SWING-AWAY PIVOT KIDS LATERAL BRACKET ONLY
	LBCB9: Off
	LBC9: DSALCL
	LBQ9: 
	LBSD9: DREAMLINE SWING-AWAY CLAMP-ON LATERAL BRACKET ONLY
	LBCB10: Off
	LBC10: DSALCP
	LBQ10: 
	LBPIC_7: 
	LBPIC_8: 
	LBPIC_9: 
	LBPIC_10: 
	Text33: 
	LBSD6: DREAMLINE LO-RISER SWING-AWAY PIVOT LATERAL BRACKET ONLY
	LBSD10: DREAMLINE SWING-AWAY CLAMP-ON PIVOT LATERAL BRACKET ONLY
	Page2_Allcodes: 
	PPCB1: Off
	PPCB2: Off
	PPCB3: Off
	page5Allcodes: 
	page4Allcodes: 
	L6: 
	R6: 
	P6: 
	L7: 
	R7: 
	P7: 
	L8: 
	R8: 
	P8: 
	L9: 
	R9: 
	P9: 
	L10: 
	R10: 
	P10: 
	HAH10: -
	HAW10: -
	HAH11: -
	HAW11: -
	HAL10: 14"
	HAL11: 16"
	LBCB1: Off
	LBPIC_1: 
	LBC1: DFL
	LBC2: DFLA
	LBC3: DSAL
	LBC4: DSALP
	LBC5: DSALLR
	LBCB2: Off
	LBCB3: Off
	LBCB4: Off
	LBPIC_2: 
	LBPIC_3: 
	LBPIC_4: 
	LBPIC_5: 
	LBCB5: Off
	LBQ1: 
	LBQ2: 
	LBQ3: 
	LBQ4: 
	LBQ5: 
	LBSD1: DREAMLINE FIXED LATERAL L BRACKET ONLY
	LBSD2: DREAMLINE FIXED LATERAL ANGLE ADJUSTABLE BRACKET ONLY
	LBSD3: DREAMLINE SWING-AWAY LATERAL BRACKET ONLY
	LBSD4: DREAMLINE SWING-AWAY PIVOT LATERAL BRACKET ONLY
	LBSD5: DREAMLINE LO-RISER SWING-AWAY LATERAL BRACKET ONLY
	L3: 
	R3: 
	P3: 
	L4: 
	R4: 
	P4: 
	L5: 
	R5: 
	P5: 
	L1: -
	R1: -
	L2: -
	R2: -
	P1: -
	P2: -
	LPQ5: 
	LPPIC_5: 
	LPCB5: Off
	LPSD5: DREAMLINE LATERAL PAD CUSTOM SIZE MORE THAN 250MM LONG OR WIDE
	LPC5: DLPPCUSTXL
	ME5: -
	LG5: -
	LBACB1: Off
	LBAC1: DSALEXTL
	LBAC2: CDSALLBKT
	LBAC3: DSALBOOT
	LBACB2: Off
	LBACB3: Off
	LBAQ1: 
	LBAQ2: 
	LBAQ3: 
	LBASD1: DREAMLINE - SWING-AWAY LATERAL BRACKET EXTRA LINK ONLY
	LBASD2: DREAMLINE - CORPUS LATERAL INTERFACE L BRACKET
	LBASD3: DREAMLINE - LATERAL BRACKET PROTECTIVE BOOT
	Dash1: -
	Dash2: -
	Dash3: -
	Dash4: -
	LPC2: DLPPC
	LPC3: DLPPA
	LPC4: DLPPTD
	LPCB2: Off
	LPCB3: Off
	LPCB4: Off
	LPPIC_2: 
	LPPIC_3: 
	LPPIC_4: 
	LPQ2: 
	LPQ3: 
	LPQ4: 
	LPSD2: DREAMLINE LATERAL CURVED PAD ONLY
	LPSD3: DREAMLINE LATERAL ANTERIOR PAD ONLY
	LPSD4: DREAMLINE LATERAL TEARDROP PAD ONLY
	SM2: 
	ME2: 
	LG2: 
	SM3: 
	ME3: 
	LG3: 
	XS2: 
	XS3: 
	SM4: 
	ME4: 
	LG4: 
	SML1: 
	MED1: 
	LGE1: 
	SML2: 
	MED2: 
	LGE2: 
	SML3: 
	MED3: 
	LGE3: 
	XSM1: 
	XSM2: 
	XSM3: 
	SML4: 
	LGE4: 
	MED4: 
	LPACB1: Off
	LPAPIC_1: 
	LPAC1: DLPSOC
	LPAC2: DLPCOC
	LPAC3: DLPAOC
	LPAC4: DLPTDOC
	LPACB2: Off
	LPACB3: Off
	LPACB4: Off
	LPAPIC_2: 
	LPAPIC_3: 
	LPAPIC_4: 
	LPAQ1: 
	LPAQ2: 
	LPAQ3: 
	LPAQ4: 
	LPASD1: DREAMLINE LATERAL STRAIGHT PAD SPARE OUTER COVER ONLY
	LPASD2: DREAMLINE LATERAL CURVED PAD SPARE OUTER COVER ONLY
	LPASD3: DREAMLINE LATERAL ANTERIOR PAD SPARE OUTER COVER ONLY
	LPASD4: DREAMLINE LATERAL TEARDROP PAD SPARE OUTER COVER ONLY
	SM5: -
	LMCB1: Off
	LMPIC_1: 
	LMC1: DLPMODGO
	LMC2: DLPMODC
	LMC3: DLPMODCPU
	LMC4: DLPMODCF
	LMCB2: Off
	LMCB3: Off
	LMCB4: Off
	LMPIC_2: 
	LMPIC_3: 
	LMPIC_4: 
	LMSD1: DREAMLINE - LATERAL PAD GEL OVERLAY ON INNER & TOP SURFACES FOR EXTRA PRESSURE RELIEF
	LMSD2: DREAMLINE - LATERAL PAD CUSTOM CUT-OUT TO MEASUREMENTS GIVEN
	LMSD3: DREAMLINE - LATERAL PAD CUSTOM FABRIC MODIFICATION FOR CONTACT SURFACES - PU FABRIC -SMOOTH
	LMSD4: DREAMLINE - LATERAL PAD CUSTOM FABRIC MODIFICATION FOR CONTACT SURFACES - OTHER FABRIC
	LWM1: -
	LLM1: -
	LWM2: 
	LLM2: 
	AS2: 
	AS1: 
	AS3: 
	AS4: 
	LP1: X-Small
	LP2: Small
	LP3: Medium
	LP4: Large
	LB3: Pair
	LB4: Pair
	LB5: Pair
	LB6: Right
	LB7: Left
	LB8: Left
	LB9: Right
	LB10: Pair
	HGCB1: Off
	HGC1: DHGSD
	HGQ1: 
	HGSD1: DREAMLINE -  SWING DOWN  HIP GUIDE BRACKET ONLY.
	HG_PIC1: 
	HGCB2: Off
	HGC2: DHGSDP
	HGQ2: 
	HGSD2: DREAMLINE -  SWING DOWN PIVOT HIP GUIDE BRACKET ONLY.
	HG_PIC2: 
	HBCB2: Off
	HBC2: DHRS
	HBQ2: 
	HBSD2: DREAMLINE - SADDLEBACK HEADREST BRACKET - SWING-DOWN - COMPLETE
	HB_PIC2: 
	HPCB1: Off
	HPC1: DHGP10
	HBACB1: Off
	HBAC1: DHRLINK
	HBAQ1: 
	HBASD1: DREAMLINE - SADDLEBACK HEADREST EXTRA LINK ONLY
	HBA_PIC1: 
	HBACB2: Off
	HBAC2: DHRM
	HBAQ2: 
	HBASD2: DREAMLINE - SADDLEBACK HEADREST MOUNT ONLY - COMPLETE
	HBA_PIC2: 
	HDPCB1: Off
	HDPC1: DHPASML
	HDPQ1: 
	HDPSD1: DREAMLINE - ASSIST HEADREST PAD ONLY - SMALL
	HDP_PIC1: 
	HDPCB2: Off
	HDPC2: DHPALGE
	HDPQ2: 
	HDPSD2: DREAMLINE - ASSIST HEADREST PAD ONLY - LARGE
	HDP_PIC2: 
	HDPCB3: Off
	HDPC3: DHPCXSML
	HDPQ3: 
	HDPSD3: DREAMLINE - CONTOURED HEADREST PAD ONLY - X-SMALL
	HDP_PIC3: 
	HDPCB4: Off
	HDPC4: DHPCSML
	HDPQ4: 
	HDPSD4: DREAMLINE - CONTOURED HEADREST PAD ONLY - SMALL
	HDP_PIC4: 
	HDPCB5: Off
	HDPC5: DHPCLGE
	HDPQ5: 
	HDPSD5: DREAMLINE - CONTOURED HEADREST PAD ONLY - LARGE
	HDP_PIC5: 
	HDPCB6: Off
	HDPC6: DHPOCSML
	HDPQ6: 
	HDPSD6: DREAMLINE - OPEN CURVED HEADREST PAD ONLY - SMALL
	HDP_PIC6: 
	HDPCB7: Off
	HDPC7: DHPOCLGE
	HDPQ7: 
	HDPSD7: DREAMLINE - OPEN CURVED HEADREST PAD ONLY - LARGE
	HDP_PIC7: 
	HDPCB8: Off
	HDPC8: DHPPWSML
	HDPQ8: 
	HDPSD8: DREAMLINE - PIVOT-WING HEADREST PAD ONLY - SMALL
	HDP_PIC8: 
	HDPCB9: Off
	HDPC9: DHPPWLGE
	HDPQ9: 
	HDPSD9: DREAMLINE - PIVOT-WING HEADREST PAD ONLY - LARGE
	HDP_PIC9: 
	HPAC1: DHPASMLOC
	HPAQ1: 
	HPASD1: DREAMLINE - ASSIST HEADREST SMALL PAD SPARE OUTER COVER ONLY
	HPA_PIC1: 
	HPACB2: Off
	HPAC2: DHPALGEOC
	HPAQ2: 
	HPASD2: DREAMLINE - ASSIST HEADREST LARGE PAD SPARE OUTER COVER ONLY
	HPA_PIC2: 
	HPACB3: Off
	HPAC3: DHPCXSMLOC
	HPAQ3: 
	HPASD3: DREAMLINE - CONTOURED HEADREST PAD SPARE OUTER COVER ONLY - X-SMALL
	HPA_PIC3: 
	HPACB4: Off
	HPAC4: DHPCSMLOC
	HPAQ4: 
	HPASD4: DREAMLINE - CONTOURED HEADREST PAD SPARE OUTER COVER ONLY - SMALL
	HPA_PIC4: 
	HPACB5: Off
	HPAC5: DHPCLGEOC
	HPAQ5: 
	HPASD5: DREAMLINE - CONTOURED HEADREST PAD SPARE OUTER COVER ONLY - LARGE
	HPA_PIC5: 
	HPACB6: Off
	HPAC6: DHPOCSMLOC
	HPAQ6: 
	HPASD6: DREAMLINE - OPEN CURVED HEADREST PAD SPARE OUTER COVER ONLY - SMALL
	HPA_PIC6: 
	HPACB7: Off
	HPAC7: DHPOCLGEOC
	HPAQ7: 
	HPASD7: DREAMLINE - OPEN CURVED HEADREST PAD SPARE OUTER COVER ONLY - LARGE
	HPA_PIC7: 
	HPACB8: Off
	HPAC8: DHPPWSMLOC
	HPAQ8: 
	HPASD8: DREAMLINE - PIVOT-WING HEADREST PAD SPARE OUTER COVER ONLY - SMALL
	HPA_PIC8: 
	HPACB9: Off
	HPAC9: DHPPWLGEOC
	HPAQ9: 
	HPASD9: DREAMLINE - PIVOT-WING HEADREST PAD SPARE OUTER COVER ONLY - LARGE
	HPA_PIC9: 
	HDMCB1: Off
	HDMC1: DHPMODCPU
	HDMSD1: DREAMLINE - HEADREST PAD CUSTOM FABRIC MODIFICATION ON CONTACT SURFACES - PU FABRIC - SMOOTH
	HDM_PIC1: 
	HDMC2: DHPMODCF
	HDMSD2: DREAMLINE - HEADREST PAD CUSTOM FABRIC MODIFICATION ON CONTACT SURFACES - OTHER FABRIC
	HDM_PIC2: 
	HDMCB2: Off
	HDMCB3: Off
	HDMC3: DHPMODSFO
	HDMSD3: DREAMLINE - HEADREST PAD MODIFICATION - ADDITIONAL SUNMATE FOAM OVERLAY
	HDM_PIC3: 
	HRSD: H2X Harness
	HRPIC: 
	HRC: DH2X
	LPCB1: Off
	LPPIC_1: 
	LPC1: DLPPS
	LPQ1: 
	LPSD1: DREAMLINE LATERAL STRAIGHT PAD ONLY
	SM1: 
	ME1: 
	LG1: 
	XS1: 
	HSM: 
	HME: 
	HLG: 
	HXS: 
	HXLG: 
	HXLG1: 
	HN: X-Small
	HNA: X-Large
	HBCB1: Off
	HBC1: DHR
	HBQ1: 
	HBSD1: DREAMLINE - SADDLEBACK HEADREST BRACKET - COMPLETE
	HB_PIC1: 
	HNMSD: Harness Protector Sleeves dartex smooth side out
	HNMCB: Off
	HNMC: DH2XPSMODPU
	HNM_PIC: 
	HXS2: -
	HRACB1: Off
	HRAPIC_1: 
	HRAC1: DH2XPS
	HRAQ1: 
	HRASD1: DREAMLINE - H2X HARNESS - PROTECTOR SLEEVES
	HRACB2: Off
	HRAPIC_2: 
	HRAC2: DHRK
	HRASD2: DREAMLINE - HARNESS RETAINER KIT - COMPLETE
	HRACB3: Off
	HRAPIC_3: 
	HRAC3: DHRCB
	HRAQ3: 
	HRASD3: DREAMLINE - HARNESS RETAINER CONNECTOR BRACKET ONLY
	HRACB4: Off
	HRAPIC_4: 
	HRAC4: DHRB
	HRAQ4: 
	HRASD4: DREAMLINE - HARNESS RETAINER BRACKET ONLY
	HPBCB7: Off
	HPBPIC_7: 
	HPBC7: DHB2CP
	HPBSD7: DREAMLINE 2 POINT PADDED HIP BELT, CENTRE PULL WITH PLASTIC SIDE RELEASE BUCKLE
	HPBCB8: Off
	HPBPIC_8: 
	HPBC8: DHB2DP
	HPBSD8: DREAMLINE 2 POINT PADDED HIP BELT, DUAL CENTRE PULL WITH PLASTIC SIDE RELEASE BUCKLE
	HSM1: 
	HME1: 
	HLG1: 
	HXS1: 
	HIP4: Large
	HIP1: Medium
	HIP2: Small
	HIP3: Medium
	HIP5: Medium
	HIP6: Small
	HIP7: X-Small
	HIP8: Medium
	HSML2: 
	HMED2: 
	HLGE2: 
	HSML3: 
	HMED3: 
	HLGE3: 
	HMED6: 
	HLGE6: 
	HSML6: 
	HSML5: 
	HMED5: 
	HLGE5: 
	HXSM5: 
	HSML4: 
	HMED4: 
	HLGE4: 
	HXSM4: 
	HSML7: 
	HMED7: 
	HLGE7: 
	HSML8: 
	HMED8: 
	HLGE8: 
	HXSM7: 
	HXSM8: 
	HSML1: 
	HMED1: 
	HLGE1: 
	HPACB1: Off
	HSML9: 
	HLGE9: 
	HMED9: 
	HIPSD: DREAMLINE HIP BELT GEL SLIP ON SLEEVES - PAIR
	HIPC: DHBGELSLV
	HIPCB: Off
	HIP9: Medium
	HIPPIC: 
	HPBCB2: Off
	HPBPIC_2: 
	HPBC2: DHB4RP
	HPBSD2: DREAMLINE 4 POINT PADDED HIP BELT, REAR PULL WITH PLASTIC SIDE RELEASE BUCKLE
	HPBCB3: Off
	HPBPIC_3: 
	HPBC3: DHB4CM
	HPBSD3: DREAMLINE 4 POINT PADDED HIP BELT, CENTRE PULL WITH METAL CENTRE RELEASE BUCKLE
	HPBCB4: Off
	HPBPIC_4: 
	HPBC4: DHB4CP
	HPBSD4: DREAMLINE 4 POINT PADDED HIP BELT, CENTRE PULL WITH PLASTIC SIDE RELEASE BUCKLE
	HPBCB5: Off
	HPBPIC_5: 
	HPBC5: DHB4DP
	HPBSD5: DREAMLINE 4 POINT PADDED HIP BELT, DUAL CENTRE PULL WITH PLASTIC SIDE RELEASE BUCKLE
	HPBCB6: Off
	HPBPIC_6: 
	HPBC6: DHB2CM
	HPBSD6: DREAMLINE 2 POINT PADDED HIP BELT, CENTRE PULL WITH METAL CENTRE RELEASE BUCKLE
	CSCB1: Off
	CSPIC_1: 
	CSC1: DPCS12
	CSSD1: DREAMLINE - PADDED CALF STRAP 12"
	CSCB2: Off
	CSPIC_2: 
	CSC2: DPCS14
	CSSD2: DREAMLINE - PADDED CALF STRAP 14"
	CSCB3: Off
	CSPIC_3: 
	CSC3: DPCS16
	CSSD3: DREAMLINE - PADDED CALF STRAP 16"
	CSCB4: Off
	CSPIC_4: 
	CSC4: DPCS18
	CSSD4: DREAMLINE - PADDED CALF STRAP 18"
	CSCB5: Off
	CSPIC_5: 
	CSC5: DPCS20
	CSSD5: DREAMLINE - PADDED CALF STRAP 20"
	CSCB6: Off
	CSPIC_6: 
	CSC6: DPCSCUST
	CSSD6: DREAMLINE - PADDED CALF STRAP - CUSTOM
	HRAQ2: 
	HIPQ: 
	PAGE 8 ALL CODE: 
	PAGE 7 ALL CODE: 
	HPBCB1: Off
	HPBPIC_1: 
	HPBC1: DHB4RM
	HPBSD1: DREAMLINE 4 POINT PADDED HIP BELT, REAR PULL WITH METAL CENTRE RELEASE BUCKLE
	SPCB15: Off
	SP_PIC15: 
	SPC15: DFASCSM630BPK20
	SPSD15: DREAMLINE - CAP SCREW SS - BLACK - M6 X 30 - PACK OF 20
	SPQ15: 
	SPCB16: Off
	SP_PIC16: 
	SPC16: DFASCSM635BPK20
	SPSD16: DREAMLINE - CAP SCREW SS - BLACK - M6 X 35 - PACK OF 20
	SPQ16: 
	SPCB17: Off
	SP_PIC17: 
	SPC17: DFASCBM616BPK20
	SPSD17: DREAMLINE - COACH BOLT SS - BLACK - M6 X 16 - PACK OF 20
	SPQ17: 
	SPCB18: Off
	SP_PIC18: 
	SPC18: DFASCBM620BPK20
	SPSD18: DREAMLINE - COACH BOLT SS - BLACK - M6 X 20 - PACK OF 20
	SPQ18: 
	SPCB19: Off
	SP_PIC19: 
	SPC19: DFASCBM625BPK20
	SPSD19: DREAMLINE - COACH BOLT SS - BLACK - M6 X 25 - PACK OF 20
	SPQ19: 
	SPCB20: Off
	SP_PIC20: 
	SPC20: DFASCBM630BPK20
	SPSD20: DREAMLINE - COACH BOLT SS - BLACK - M6 X 30 - PACK OF 20
	SPQ20: 
	SPCB1: Off
	SP_PIC1: 
	SPC1: DTBA25
	SPSD1: DREAMLINE - TRIPLE BAR ADJUSTER - METAL - 25MM
	SPQ1: 
	SPCB2: Off
	SP_PIC2: 
	SPC2: DTBA38
	SPSD2: DREAMLINE - TRIPLE BAR ADJUSTER - METAL - 38MM
	SPQ2: 
	SPCB3: Off
	SP_PIC3: 
	SPC3: DTRIMOUNT25
	SPSD3: DREAMLINE - TRIANGLE HARNESS MOUNT - METAL - 25MM
	SPQ3: 
	SPCB4: Off
	SP_PIC4: 
	SPC4: DTRIMOUNT38
	SPSD4: DREAMLINE - TRIANGLE HARNESS MOUNT - METAL - 38MM
	SPQ4: 
	SPCB21: Off
	SP_PIC21: 
	SPC21: DFASCBM650BPK20
	SPSD21: DREAMLINE - COACH BOLT SS - BLACK - M6 X 50 - PACK OF 20
	SPQ21: 
	SPCB22: Off
	SP_PIC22: 
	SPC22: DFASCBM660BPK20
	SPSD22: DREAMLINE - COACH BOLT SS - BLACK - M6 X 60 - PACK OF 20
	SPQ22: 
	SPCB23: Off
	SP_PIC23: 
	SPC23: DFASCHSM610BPK20
	SPSD23: DREAMLINE - COUNTERSUNK HEX SCREW SS - M6 X 10 - PACK OF 20
	SPQ23: 
	SPCB24: Off
	SP_PIC24: 
	SPC24: DFASCHSM616BPK20
	SPSD24: DREAMLINE - COUNTERSUNK HEX SCREW SS - M6 X 16 - PACK OF 20
	SPQ24: 
	SPCB5: Off
	SP_PIC5: 
	SPC5: DFASBHM610SPK20
	SPSD5: DREAMLINE - BUTTON HEX SCREW SS - SILVER - M6 X 10 - PACK OF 20
	SPQ5: 
	SPCB6: Off
	SP_PIC6: 
	SPC6: DFASBHM612BPK20
	SPSD6: DREAMLINE - BUTTON HEX SCREW SS - BLACK - M6 X 12 - PACK OF 20
	SPQ6: 
	SPCB7: Off
	SP_PIC7: 
	SPC7: DFASBHM616BPK20
	SPSD7: DREAMLINE - BUTTON HEX SCREW SS - BLACK - M6 X 16 - PACK OF 20
	SPQ7: 
	SPCB8: Off
	SP_PIC8: 
	SPC8: DFASBHM620BPK20
	SPSD8: DREAMLINE - BUTTON HEX SCREW SS - BLACK - M6 X 20 - PACK OF 20
	SPQ8: 
	SPCB25: Off
	SP_PIC25: 
	SPC25: DFASCHSM625BPK20
	SPSD25: DREAMLINE - COUNTERSUNK HEX SCREW SS - M6 X 25 - PACK OF 20
	SPQ25: 
	SPCB26: Off
	SP_PIC26: 
	SPC26: DFASFXP2HOLBPK20
	SPSD26: DREAMLINE - FIXING PLATE SS - 2 HOLE - PACK OF 20
	SPQ26: 
	SPCB27: Off
	SP_PIC27: 
	SPC27: DFASFXP3HOLBPK20
	SPSD27: DREAMLINE - FIXING PLATE SS - 3 HOLE - PACK OF 20
	SPQ27: 
	SPCB28: Off
	SP_PIC28: 
	SPC28: DFASNNM5BPK20
	SPSD28: DREAMLINE - NYLOC NUT SS - BLACK - M5 - PACK OF 20
	SPQ28: 
	SPCB9: Off
	SP_PIC9: 
	SPC9: DFASBHM625BPK20
	SPSD9: DREAMLINE - BUTTON HEX SCREW SS - BLACK - M6 X 25 - PACK OF 20
	SPQ9: 
	SPCB10: Off
	SP_PIC10: 
	SPC10: DFASBHM630BPK20
	SPSD10: DREAMLINE - BUTTON HEX SCREW SS - BLACK - M6 X 30 - PACK OF 20
	SPQ10: 
	SPCB11: Off
	SP_PIC11: 
	SPC11: DFASBHM640BPK20
	SPSD11: DREAMLINE - BUTTON HEX SCREW SS - BLACK - M6 X 40 - PACK OF 20
	SPQ11: 
	SPCB12: Off
	SP_PIC12: 
	SPC12: DFASCSM512SPK20
	SPSD12: DREAMLINE - CAP SCREW SS - SILVER SMOOTH RIM - M5 X 12 - PACK OF 20
	SPQ12: 
	SPCB13: Off
	SP_PIC13: 
	SPC13: DFASCSM520BPK20
	SPSD13: DREAMLINE - CAP SCREW SS - BLACK - M5 X 20 - PACK OF 20
	SPQ13: 
	SPCB14: Off
	SP_PIC14: 
	SPC14: DFASCSM625BPK20
	SPSD14: DREAMLINE - CAP SCREW SS - BLACK - M6 X 25 - PACK OF 20
	SPQ14: 
	SPCB29: Off
	SP_PIC29: 
	SPC29: DFASNNM6BPK20
	SPSD29: DREAMLINE - NYLOC NUT SS - BLACK - M6 - PACK OF 20
	SPQ29: 
	SPCB30: Off
	SP_PIC30: 
	SPC30: DFASAWM625PK20
	SPSD30: DREAMLINE - WASHER ALUMINIUM - BLACK - M6 X 25 - PACK OF 20
	SPQ30: 
	SPCB31: Off
	SP_PIC31: 
	SPC31: DFASWFM612BPK20
	SPSD31: DREAMLINE - WASHER FLAT SS - BLACK - M6 X 12 - PACK OF 20
	SPQ31: 
	SPCB32: Off
	SP_PIC32: 
	SPC32: DFASWFM619BPK20
	SPSD32: DREAMLINE - WASHER FLAT SS - BLACK - M6 X 19 - PACK OF 20
	SPQ32: 
	SPCB33: Off
	SP_PIC33: 
	SPC33: DFASWSM6BPK20
	SPSD33: DREAMLINE - WASHER SPRING SS - BLACK - M6 - PACK OF 20
	SPQ33: 
	SPCB34: Off
	SP_PIC34: 
	SPC34: DFASCNM6
	SPSD34: DREAMLINE - COACH NUT SS - SILVER - M6 - PACK OF 20
	SPQ34: 
	Text34: 
	Refrence: 
	date: 
	company: 
	represent: 
	therapist: 
	client: 
	XS5: -
	XSM4: -
	PG1Code: 
	PG2Code: 
	PG2Text: 
	PG2Qty: 
	PG1Text: 
	PG1Qty: 
	PG3Text: 
	PG3Code: 
	PG3Qty: 
	PG4Text: 
	PG4Code: 
	PG4Qty: 
	PG5Qty: 
	PG5Code: 
	PG5Text: 
	PG6Text: 
	PG6Code: 
	PG6Qty: 
	PG7Text: 
	PG7Qty: 
	PG7Code: 
	PG8Text: 
	PG8Code: 
	PG8Qty: 
	Text39: ----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
                                                                                                                                                    Cushions
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
                                                                                                                                                  Seat Bases
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
                                                                                                                                                    Backrests
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
                                                                                                                                               Medial Thigh Support
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
                                                                                                                                              Hip Guides/Armrests
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
                                                                                                                                                    Laterals
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
                                                                                                                                                   Headrests
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
                                                                                                                                              Harnesses/Belts/Straps
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
                                                                                                                                                  Spare Parts
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

	PG9Code: 
	PG9Text: 
	PG9Qty: 
	Text42: 
	Text43: 
	Text45: 
	Text71: 
	Text78: 
	Text79: 
	Text80: 
	Text81: 
	Text82: 
	Text83: 
	Text84: 
	Text85: 
	Text86: 
	Text87: 
	Text37: 
	Text41: 
	Colour1: Off
	Cushion: Off
	Outer Cover: Off
	Backrest: Off
	Pommel: Off
	Hip Guide: Off
	Armrest: Off
	Lateral: Off
	Headrest: Off
	Harness: Off
	Blue 1: 
	Red 1: 
	Orange 1: 
	Pink 1: 
	Green 1: 
	Purple 1: 
	Yellow 1: 
	Silver 1: 
	Colour2: Off
	CText2: SELECT COLOUR 2
	CText3: SELECT COLOUR 3
	Colour3: Off
	Cush: Black
	Ocov: Black
	Bres: Black
	pomm: Black
	higui: Black
	ares: Black
	latr: Black
	headt: Black
	harslv: Black
	C_1: 
	C_2: 
	C_3: 
	C_4: 
	C_5: 
	C_6: 
	C_7: 
	C_8: 
	C_9: 
	CD1: 
	CD2: 
	CD3: 
	CD4: 
	CD5: 
	CD6: 
	CD7: 
	CD8: 
	CD9: 
	Text38: 
	Text94: 
	Clear Form: 
	PIC11: 
	W28: -
	H28: 
	W29: -
	H29: -
	W30: -
	H30: -
	W31: -
	H31: -
	H11: -
	W11: -
	SD11: Dreamline G7 Medial Thigh Support - Small
	Q11: 
	C11: DGCPOMSML
	CB11: Off
	CB51: Off
	C51: DGCPOMLGE
	Q51: 
	SD51: Dreamline G7 Medial Thigh Support - Large
	W51: -
	H51: -
	PIC51: 
	CB52: Off
	C52: DXCLATLL6
	Q52: 
	SD52: Low Lateral Segments for STX2 Cushions
	W52: -
	H52: 6"
	PIC52: 
	CB53: Off
	C53: DXCLATLL8
	Q53: 
	SD53: Low Lateral Segments for STX2 Cushions
	W53: -
	H53: 8"
	PIC53: 
	CB54: Off
	C54: DXCLATLL10
	Q54: 
	SD54: Low Lateral Segments for STX2 Cushions
	W54: -
	H54: 10"
	PIC54: 
	Check Box31: Off
	Check Box32: Off
	Check Box33: Off
	M24: DCMODCPU
	M25: DCMODCF
	M26: DCMODTS
	M24_af_image: 
	M25_af_image: 
	M26_af_image: 
	D24: Cushion Custom fabric modification (contact surfaces) - Dartex smooth
	D25: Cushion Custom fabric modification (contact surfaces) - Other Fabric
	D26: Cushion Tapered Sides Modification to WF and WR dimensions supplied.
	H44: -
	H45: -
	H46: -
	W45: -
	L45: -
	W44: -
	L44: -
	W46: -
	L46: -
	Check Box34: Off
	Check Box35: Off
	Check Box36: Off
	M27: DCMODEH
	M28: DCMODH
	M29: DCMODP
	M27_af_image: 
	M28_af_image: 
	M29_af_image: 
	D27: Custom Height Modification (Other)
	D28: Cushion Custom Handle Modification
	D29: Cushion Custom Pouch Modification
	H47: 
	H48: 
	H49: 
	W48: 
	L48: 
	W47: 
	L47: 
	W49: 
	L49: 
	CB27: Off
	C27: DSPUR400
	Q27: 
	SW27: -
	SD27: Dreamline Utility Rail for Quick-release Seat Pan 400mm (suits 19"/23" seat depths)
	SPA7: 
	SL27: -
	CB28: Off
	C28: DSPCF
	Q28: 
	SPA8: 
	SD28: Dreamline Positioning Clamps(PR)
	SW28: -
	SL28: -
	HAC19: DHGPCUSTOC
	HACB19: Off
	HA_PIC19: 
	HAQ19: 
	HASD19: DREAMLINE - HIP GUIDE SPARE OUTER COVER ONLY - CUSTOM
	HAH19: 
	HAW19: -
	HAL19: 
	HAC20: DHGSPACER
	HACB20: Off
	HA_PIC20: 
	HAQ20: 
	HASD20: DREAMLINE HIP GUIDE EXTRA PAD SPACER ONLY
	HAH20: -
	HAW20: -
	HAL20: -
	LBAPIC_1: 
	LBAPIC_2: 
	LBAPIC_3: 
	BSCB26: Off
	BSC26: 
	BSQ26: 
	BSPIC_26: 
	BSD26: 
	BSW26: "
	BSL26: "
	All Functions: 
	Corpus BAC System: 
	BS1: 
	BS2: 
	BS3: 
	BS4: 
	BS5: 
	BS6: 
	BS7: 
	BS8: 
	BS9: 
	BS10: 
	BS11: 
	BS12: 
	BS13: 
	BS14: 
	BS15: 
	BS16: 
	BS17: 
	BS18: 
	BS19: 
	BS20: 
	BS21: 
	BS22: 
	BS23: 
	BS24: 
	BS25: 
	BS26: 
	BS27: 
	BS28: 
	BS29: 
	BS30: 
	BS31: 
	BS32: 
	BS33: 
	BS34: 
	BS35: 
	BS36: 
	BS37: 
	BS38: 
	BS39: 
	BS40: 
	BS41: 
	BS42: 
	BS43: 
	BS44: 
	BS45: 
	BAC1: CDBAC1420
	BAC2: CDBAC1421
	BAC3: CDBAC1422
	BAC4: CDBAC1423
	BAC5: CDBAC1424
	BAC6: CDBAC1425
	BAC System: Off
	BAC7: CDBAC1426
	BAC8: CDBAC1427
	BAC9: CDBAC1428
	BAC10: CDBAC1620
	BAC11: CDBAC1621
	BAC12: CDBAC1622
	BAC13: CDBAC1623
	BAC14: CDBAC1624
	BAC15: CDBAC1625
	BAC16: CDBAC1626
	BAC17: CDBAC1627
	BAC18: CDBAC1628
	BAC19: CDBAC1820
	BAC20: CDBAC1821
	BAC21: CDBAC1822
	BAC22: CDBAC1823
	BAC23: CDBAC1824
	BAC24: CDBAC1825
	BAC25: CDBAC1826
	BAC26: CDBAC1827
	BAC27: CDBAC1828
	BAC28: CDBAC2020
	BAC29: CDBAC2021
	BAC30: CDBAC2022
	BAC31: CDBAC2023
	BAC32: CDBAC2024
	BAC33: CDBAC2025
	BAC34: CDBAC2026
	BAC35: CDBAC2027
	BAC36: CDBAC2028
	BAC37: CDBAC2220
	BAC38: CDBAC2221
	BAC39: CDBAC2222
	BAC41: CDBAC2224
	BAC42: CDBAC2225
	BAC43: CDBAC2226
	BAC44: CDBAC2227
	BAC45: CDBAC2228
	BAC40: CDBAC2223
	BSCB24: Off
	BSC24: 
	BSD24: 
	BSQ24: 
	BSW24: "
	BSL24: "
	BSPIC_24: 
	BSCB25: Off
	BSC25: 
	BSD25: 
	BSQ25: 
	BSW25: "
	BSL25: "
	BSPIC_25: 
	BSC15: DBSWSDS
	BSQ15: 
	BSW15: -
	BSL15: -
	BSD15: Dreamline Sidewinder Spare Dampers - Soft
	BSC16: DBSWSDF
	BSD16: Dreamline Sidewinder Spare Dampers - Firm
	BSQ16: 
	BSW16: -
	BSL16: -
	BSPIC_15: 
	BSPIC_16: 
	BSCB15: Off
	BSCB16: Off
	BSCB27: Off
	BSC27: DBU2FA
	BSQ27: 
	BSW27: -
	BSL27: -
	BSD27: Dreamline Backrest Fixed Bracket
	BSPIC_27: 
	BSCB28: Off
	BSC28: DBCOMPFA
	BSQ28: 
	BSW28: -
	BSL28: -
	BSPIC_28: 
	BSCB29: Off
	BSC29: DBU2CPQRCLAMPKIT
	BSQ29: 
	BSW29: -
	BSL29: -
	BSD28: Dreamline Compact Backrest Fixed Brackets
	BSD29: Dreamline Compact Q/R Clamps
	BSPIC_29: 
	BSCB30: Off
	BSC30: DBU2QRCLAMPKIT4PT
	BSQ30: 
	BSW30: -
	BSL30: -
	BSD30: Dreamline 4-Point Clamp Kit
	BSPIC_30: 
	BSCB31: Off
	BSC31: DBU2COM2P
	BSQ31: 
	BSW31: -
	BSL31: -
	BSD31: Dreamline Backrest Q/R Bracket
	BSPIC_31: 
	BSCB32: Off
	BSC32: DBU2CPCOM2P
	BSQ32: 
	BSW32: -
	BSL32: -
	BSPIC_32: 
	BSD32: Dreamline Compact Backrest Q/R Brackets
	BSCB33: Off
	BSC33: DBU2LBKTDUAL
	BSQ33: 
	BSW33: -
	BSL33: -
	BSD33: Dreamline Backrest L-Bracket 2-Pin
	BSPIC_33: 
	BSCB34: Off
	BSC34: DBU2LBKTSING
	BSQ34: 
	BSW34: -
	BSL34: -
	BSD34: Dreamline Backrest L-Bracket 1-Pin
	BSPIC_34: 
	BSCB35: Off
	BSC35: DBU2QRCOM4P
	BSQ35: 
	BSW35: -
	BSL35: -
	BSD35: Dreamline  4-Point Back Bracket
	BSPIC_35: 
	BSCB36: Off
	BSC36: DBCOMPOSP
	BSQ36: 
	BSW36: -
	BSL36: -
	BSD36: Dreamline Ignite Backrest Offset Plates
	BSPIC_36: 
	BAC: 
	Button12: 
	HRCB: Off
	Text40: 
	Text95: 
	CText1: SELECT COLOUR 1
	ALL: Off
	Text101: Default colour is black.  Unless a colour is selected below, seating will be black.
	Button14: 
	CSW1: 12"
	CSW2: 14"
	CSW3: 16"
	CSW4: 18"
	CSW5: 20"
	CSW6: 
	HRQ: 
	CSQ1: 
	CSQ2: 
	CSQ3: 
	CSQ4: 
	CSQ5: 
	CSQ6: 
	HPBQ1: 
	HPBQ2: 
	HPBQ3: 
	HPBQ4: 
	HPBQ5: 
	HPBQ6: 
	HPBQ7: 
	HPBQ8: 


